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Subject No. of questions 
Unit – III: Geography Of India 20 

 Unit – V: Indian Polity 25 

Unit – VII: Indian National Movement 35 

Unit – VIII: History, Culture, Heritage And 
Socio - Political Movements In Tamil Nadu 

25 

Unit – IX: Development Administration In 
Tamil Nadu 

20 

Unit – X: Mental Ability 25 

Total Number Of Questions 150 (2 ½ Hrs) 
 

 

UNIT- III: GEOGRAPHY OF INDIA 
 

 

 

Transport & 
Communication 

7th Term (II) Unit (2)  - Tourism 

9th Full Book Unit (7) -  Mapping Skills (7.2 – 
7.3 ) 

10th Volume (I) Unit(5) -  India Population, 
Transport, Communication,  Trade 

12th Geography Unit(6) -  Geo informatics 

Social Geography 
[Population Density & 

7th  Term (I) Unit (3) – Population & Settlement 
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Distribution, Racial, 
Linguistic Groups & 
Major Tribes] 

 

8th Term (II) Unit 1 – Migration and 
Urbanisation 

9th  Full Book Unit (6)  - Man & Environment 

12th Geography Unit (1) - Population Geography 

 Unit (5) – Cultural and political    
Geography 

 
 

 

UNIT-V: INDIAN POLITY 
Election – 
Judiciary in 
India  

 6th Term (III)   Civics – Unit (1) – Democracy 

 7th Term (I)    Civics – Unit (2) – Political Parties 

 9th - Unit (1)   Forms of Government and 
Democracy  

- Unit (2) – Election, Political Parties 

 11th Volume (I)  Unit (2) – State 
- Unit (5) – Democracy 

 11th Volume (II)  Unit (10) – Public Opinion & 
Party System 

- Unit (11) – Election & Representation 

 12th - Unit (4)  Indian Judiciary  
- Unit (6) – Administrative Machinery 

in India 
 

 

Rule of Law  Rule Of Law – Refer Laxmikanth  5th Edition– 
Indian Polity  
                          Page No : 7.5 

Ref: Appolo Indian Polity Book Vol – I & II 

 
 

Annexure II  High Courts in India – (12th book) 
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Unit VII – Indian National Movement 
Different modes 
of Agitation 
Growth of 
Satyagraha and 
Militant 
Movements –  

 12th std Volume – I 
Unit – (1)  : Rise of Nationalism in India 
Unit – (2) Rise of Extremism & Swadeshi 
Movement 

Unit (3)  Impact of World War I on Indian 
Freedom Movement 
Unit (4) - Advent of Gandhi and Mass 
Mobilisation 
Unit (5) - Period of Radicalism in Anti-
imperialist Struggles  

 
 

 Unit- VIII: History, Culture, Heritage & Socio - Political 
Movements In Tamil Nadu 

 

iv.Evolution of 19th and 20th Century Socio-Political movements in Tamil 
Nadu - Justice Party, Growth of Rationalism - Self Respect Movement, 

Dravidian movement and Principles underlying both these movements 

Reference Books 

 10th Unit 9.3    Non Brahmin movement 

       Unit 9.4    Non Cooperation Movement 

 10th Unit 10.2  Rise of Dravidian Movement  
                10.3 - Justice Party 
                10.4 - Self Respect Movement 

 11th Political Science VOL (II)   
- Unit  (14) - Political     Developments in Tamil Nadu 
- Unit (15)- 15.5 – Dravidian Ideology 
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UNIT – IX: Development Administration in TamilNadu 

 
 

 

Geography of 
Tamilnadu and its 
Impact on Economic 
Growth 

 

10th Volume  
(II) 

Unit (6) – Physical Geography of 
TamilNadu     

Unit (7) – Human Geography of 
TamilNadu 

12th geography  Unit (5) – cultural and political 
geography (Tribals in Tamilnadu) 

 
 

UNIT – X: MENTAL ABILITY & APTITUDE 
LIFE MATHEMATICS  - OLD SAMACHEER  
                                            7TH  & 8TH Standard  

 

Advantages of Scoring High Marks in Assessment 

Test 

 

 Access to Reference Hall to read text books and standard 
books. 

 Spot tests 
 Special Motivational Sessions 
 Mentorship with Toppers 
 Special classes 

 Mentorship – Under the Personal Guidance of  
R. Sam Rajesswaran, Director, Appolo Study Centre.  
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REFERNNCE HALL ACCESS TEST V – 2020 

GROUP I PRELIMINARY BATCH VI 
 
1. Choose the incorrect pairs:  

I. 1917 - Birth of Dravidian Association. 
II. 1916 – South Indian Liberal Federation was formed. 
III. 1974 – state autonomy Resolution was passed in the assembly 

 a. I  b. II   c. III   d. I, III 
gpd;tUtdtw;Ws; jtwhd ,iziaj; Njh;T nra;f. 
I. 1917 – jpuhtpl fofj;jpd; Njhw;wk;  
II. 1916 – njd;dpe;jpa tpLjiyf; $l;likg;G cUthf;fk; 
III. 1974 – khepyj; jd;dhl;rp jPh;khdk; rl;lrigapy; epiwNtw;wk; 

 a. I  b. II   c. III   d. I, III 
 

2. Which of the following statements is correct? 
I. The madras presidency was formed in 1801. 
II. In 1936 the Brahmi Script was deciphered by James princep. 
III. In 1852, Madras Native Association was formed. 

 a. I, II, III  b. I, II   c. II, III  d. I, III 
gpd;tUk; $w;Wfspy; vit rhpahdit? 
I. 1801 Mk; Mz;L nrd;id khfhzk; cUthdJ. 
II. 1936-,y; gpuhkp vOj;Jf;fis N[k;]; gphpd;rpg; tpsf;;fpdhh;. 
III. 1852-y; nrd;id tho; kf;fs; rq;fk; cUthf;fg;gl;lJ. 

 a. I, II, III  b. I, II   c. II, III  d. I, III 
 

3. Who was Nicknamed as „Jail bird‟ (Siraiparavai)? 
a. K.Kamaraj    b. Mahatma Gandhi 
c. E.V.R. Periyar   d. C.N.Annadurai 
„rpiwg;gwit‟ vd;w milnkhopapl;L miof;fg;gLgth;? 
a. K.fhkuh[h;    b. kfhj;khfhe;jp 
c.  <.nt.uh. nghpahh;   d. C.N. mz;zhJiu 
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4. E.V.R Periyar launched Self-respect movement is 

a. 1923  b. 1925  c. 1926  d. 1924 
<.nt.uh nghpahh; Rakhpahij ,af;fj;ij Jtq;fpa Mz;L 
a. 1923  b. 1925  c. 1926  d. 1924 
 

5. Which of the following statements about objectives of Self-respect 
movement is correct? 
I. Eradication of caste system 
II. Removal of gender based restrictions on women. 
III. Rejection of hereditary priesthood 

 a. I, II, III  b. I, II   c. II, III  d. I, III 
gpd;tUtdtw;Ws; Rakhpahij ,af;fj;jpd; Nehf;fq;fis gw;wp vit 
rhpahdit? 
I. rhjpKiwia xopg;gJ 
II. ngz;fspd; kPjhd ghypd mbg;gilapyhd jil ePf;fk; 
III. guk;giu mh;r;rfh; chpikia vjph;g;gJ 
a. I, II, III  b. I, II   c. II, III  d. I, III 

 
6. Which district in TamilNadu leads in the production of Inland Fish 

Production? 
a. Cuddalore     b. Nagappatnam   
c. Vellore      d. Kanchipuram 
jkpo;ehL khepy cs;ehl;L kPd; cw;gj;jpapy; Kd;dpiyapy; cs;s khtl;lk; 
vJ? 
a. flY}h;      b. ehfg;gl;bdk; 
c. NtY}h;      d. fhQ;rpGuk; 
 

7. Which of the following statements is correct? 
1. The length of the coastline of TamilNadu is 1067 Km 
2. Coimbatore leads in the production of Bengal gram. 
3. The deltaic region of river Cauvery is called as Granary of TamilNadu. 
a. 1, 2, 3  b. 2, 3  c. 1, 3   d. 1, 2  
gpd;tUtdtw;Ws; rhpahd $w;Wfs; vit? 
1. jkpo;ehL 1067 fp.kP ePsKs;s flw;fiuiaf; nfhz;Ls;sJ. 
2. Nfhak;Gj;J}h; khtl;lk; nfhz;lf;fliy cw;gj;jpapy; khepyj;jpy; Kjd;ik 

tfpf;fpwJ. 
3. fhtphp nly;lh gFjp MdJ jkpo;ehl;bd; new;fsQ;rpak; vd 

miof;fg;gLfpwJ. 
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a. 1, 2, 3  b. 2, 3  c. 1, 3   d. 1, 2  
8. Which of the following statements is correct? 

i. Cashew is extensively cultivated in cuddalore district. 
ii. Groundnut is the major oilseed of Tamilnadu. 
iii. TANTEA is one of the Biggest Black Tea producers in India. 
iv. Goat is also known as „Poor man‟s cow‟ 

 a. i, ii, iv  b. i, ii, iii, iv  c. ii, iii  d. ii, iv 
 gpd;tUtdtw;Ws; rhpahd $w;Wfs; vit? 

i. flY}h; khtl;lj;jpy; ngUk; gFjpfspy; Ke;jphp gaphplg;gLfpd;wJ. 
ii. epyf;fliy jkpofj;jpd; Kf;fpa vz;nza; tpj;Jg; gapuhFk;. 
iii. TANTEA epWtdk; ,e;jpahtpy; fUg;G tif Njapiy cw;gj;jpapy; 

Kd;ddp tfpf;Fk; epWtdq;fSs; xd;whFk;. 
iv. nts;shLfs; „Vio kf;fspd; gR‟ vd;wiof;fg;gLfpd;wd. 

 a. i, ii, iv  b. i, ii, iii, iv  c. ii, iii  d. ii, iv 
 
9. Consider the following: 

Assertion (A): Red soil is rich in iron oxides. 
Reason (R): It is formed by leaching  
a. Both A and R are true and R is the correct explanation of A 
b. A is true but R is false 
c. A is false but R is true 
d. Both A and R are true and R is not the correct explanation of A 
gpd;tUk; $w;Wfis Ma;f. 

 $w;W (A): nrk;kz;zpy; mjpfsT ,Uk;G Mf;irLfs; cs;sd. 
 fhuzk; (R): ,J RtUjyhy; cUthfpwJ. 

a. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fk;. 
b. A rhp Mdhy; R jtW 
c. A jtW Mdhy; R rhp 
d. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fky;y. 
 

10. Choose the correct statements: 
i. Chinnakallar near valparai is the 3rd wettest place in India and wettest 

place in TamilNadu. 
ii. The Soils in TamilNadu are broadly classified into five types. 
iii. TamilNadu lies to the north of Tropic of cancer. 

 a. i, ii, iii  b. i, iii   c. ii, iii  d. i, ii 
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rhpahd $w;Wfisj; Njh;e;njL. 
i. thy;ghiwf;F mUfpYs;s rpd;df;fy;yhh; vd;gJ ,e;jpahtpd; %d;whtJ 

mjpf kio ngWk; gFjpahfTk; jkpo;ehl;bd; kpf mjpf kio ngWk; 
gFjpahfTk; cs;sJ. 

ii. jkpo;ehl;by; kz; tiffs; Ie;J gphpTfshf tifg;gLj;jg;gl;Ls;sd. 
iii. jkpofk; flf Nuiff;F tlgFjpapy; mike;Js;sJ. 

 a. i, ii, iii  b. i, iii   c. ii, iii  d. i, ii 
 
11. Who said “Democracy is Government of the people, by the people, For the 

People”? 
a. Aristotle     b. Plato  
c. Jawaharlal Nehru    d. Abraham Lincoln 
“kf;fshy; kf;fSf;fhf kf;fNs elj;Jk; Ml;rp kf;fshl;rp” vd;W $wpath;? 
a. mhp];lhl;by;     b. gpNsl;Nlh 
c. [t`h;yhy; NeU    d. Mgpufhk; ypq;fd; 
 

12. Consider the following statements: 
1. The birth place of democracy is Greece. 
2. Switzerland had a long history of a successful direct democracy. 
3. In 2008, the UNO General Assembly resolved to observe 15th September as 
the International Day of Democracy. 
a. 1, 2, 3 are correct    b. 1, 2 are correct 
c. 2, 3 are correct    d. 1, 3 are correct  
gpd;tUk; $w;Wfis Ma;f. 
1. kf;fshl;rpapd; gpwg;gplk; fpNuf;fk;. 
2. Neub kf;fshl;rpia ntw;wpfukhf nray;gLj;Jk; tuyhw;iw Rtpl;rh;yhe;J 
ngw;Ws;sJ. 
2. 2008-y; I.eh.rig nrg;lk;gh; 15 Mk; ehis cyf kf;fshl;rp jpdkhf 
mwptpj;Js;sJ. rhp 
a. 1, 2, 3 rhp  b. 1, 2 rhp c. 2, 3 rhp d. 1, 3 rhp 
  

13. Choose the correct statements: 
I. New Zealand is the first country to allow women to vote (1893) 

II. India ranks First among the democratic countries of the world. 
 a. I, II   b. I   c. II   d. None 

rhpahd $w;Wfisj; Njh;e;njL. 
I. Kjd; Kjypy; ngz;fSf;F Xl;Lhpik (1893) mspj;j ehL epa+rpyhe;J 

MFk;. 
II. cyfstpy; kf;fshl;rp ehLfspy; ,e;jpahtpw;F Kjyplk; fpilj;Js;sJ. 
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 a. I, II  b. I   c. II   d. VJkpy;iy 
14. Which of the following country does not have single party system? 

1. China  2. North Korea  3. Cuba 4. England  5. U.S.A 
a. 2, 3 b. 3, 4 c. 4, 5  d. 1, 2, 3 
gpd;tUk; ve;j ehLfspy; xUfl;rp Kiw eilKiwapy; ,y;iy? 
1. rPdh  2. Tlnfhhpah 3. fpa+gh 4. ,q;fpyhe;J 5. mnkhpf;fh 
a. 2, 3 b. 3, 4 c. 4, 5  d. 1, 2, 3 
 

15. Which of the following statements is correct? 
I. India has the largest number of political parties in the world. 
II. Every party in the country has to register with Election commission. 
III. Election commission if a statutory body. 

 a. I, II, III  b. II, III  c. I, II   d. I, III 
gpd;tUk; $w;Wfspy; rhpahdit vit? 
I. ,e;jpahtpy; cyfpd; mjpf vz;zpf;ifapyhd fl;rpfs; 

fhzg;gLfpd;wd. 
II. xt;nthU fl;rpAk; Njh;jy; Mizaj;jpy; gjpT nra;Jnfhs;s Ntz;Lk;. 
III. Njh;jy; Mizak; xU rl;lg+h;t mikg;ghFk;. 
a. I, II, III  b. II, III  c. I, II   d. I, III 

 
16. Who was the chairman of the Indian Reform Society? 

 a. Swami Vivekananda  b. Dr. Atmaram Pandurang 
 c. H.D Seymour    d. Vivian Dezorio 

,e;jpa rPh;jpUj;j r%fj;jpd; jiyth; ahh;?  
a. Rthkp tpNtfhde;jh;  b. lhf;lh; Mj;kuhk; ghz;Luq;  
c. H.D. Nr%h;    d. tptpad; NlNuhrpNah  

 
17. The inaugural meeting of Madras Mahajana Sabha was on which date? 

 a. 14 March 1884  b. 15 April 1884  
 c. 16 May 1884   d. 17 June 1884 

nkl;uh]; kfh[d rigapd; njhlf;f $l;lk; eilngw;wJ vg;nghOJ?  
a. 14 khh;r;> 1884   b. 15 Vg;uy;> 1884 
c. 16 Nk> 1884   d. 17 [Pd;> 1884  

 
18. Choose the correct statement 

i. The first INC session in present day Pakistan was conducted in Lahore 
ii. It was conducted in 1893 
a. i only   b. ii only  c. Both i and ii  d. None 
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rhpahd $w;iwj; Njh;e;njL.  
i. ,d;iwa ghfp];jhdpy; cs;s yh$hpy; Kjy; Ivd;rp mkh;T 

elj;jg;gl;lJ 
ii. 1893 y; eilngw;wJ.  
a. i kl;Lk;  b. ii kl;Lk;  c. i & ii ,uz;Lk;   d. vJTkpy;iy  

 
19. Find out the place were maximum INC sessions were conducted? 

a. Delhi   b. Madras  c. Bombay  d. Calcutta 
gpd;tUk; ve;j ,lj;jpy; Ivd;rp khehLfs; mjpf mstpy; eilngw;wJ?  
a. nly;yp  b. nkl;uh]; c. gk;gha;   d. fy;fj;jh  

 
20. Choose the correct statement 

i. The last INC session in present day Pakistan was conducted on 1931 
ii. The last INC session in present day Pakistan was conducted in Karachi 
a. i only   b. ii only  c. Both i and ii  d. None 
rhpahd $w;iwj; Njh;e;njL.  
i. ,d;iwa ghfp];jhdpy; 1931-y; filrp I.vd;.rp. khehL eilngw;wJ.  
ii. ,d;iwa ghfp];jhdpy; cs;s fuhr;rpapy; filrp I.vd;.rp khehL 

eilngw;wJ.  
a. i kl;Lk;  b. ii kl;Lk;  c. i & ii ,uz;Lk;  d. vJTkpy;iy  

 
21. Choose the incorrect pair 

i. 11th July – World Population Day 
ii. 21st February – National Mother Language Day 
iii. 21st May – World cultural diversity day 
iv. Third Sunday in January every year – World Religious Day 
a. i  b. ii  c. iii  d. iv 
jtwhd ,iziaj; Njh;e;njL. 
i. [{iy 11 – cyf kf;fs; njhif ehs; 
ii. gpg;uthp 21 – Njrpa jha;nkhop jpdk; 
iii. Nk 21 – cyf fyhr;rhu gy;tif ehs; 
iv. xt;nthU Mz;Lk; [dthp 3-tJ Qhapw;Wf;fpoik – cyf kj 
 ey;ypzf;f ehs; 
a. i  b. ii  c. iii  d. iv 
 

22. In India _________ is the largest urban area which is a megalopolis 
a. Bangalore b. Chennai  c. Hyderabad  d. Kolkata 
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,e;jpahtpy; _______ kpfg;nghpa efh;g;Gw gFjpahFk;> ,J kPg;ngU efukhFk;. 
a. ngq;f@h; b. nrd;id  c. Ijuhghj;  d. fy;fj;jh 

23. Choose the correct pair 
Urban area  Population 
i. Town  More than 10000 people 
ii. City   More than 1 lakh 
iii. Megacity  More than 10 million 
a. i, ii, iii  b. i, iii  c. ii, iii  d. i, ii 
rhpahd ,iziaf; fhz;f. 
efh;g;Gw FbapUg;G   kf;fs;njhif 
i. efuk;    1000 f;F Nky; 
ii. khefuk;   xU ,yl;rj;Jf;F Nky; 
iii. kpfg;nghpa efuk;  10 kpy;ypaDf;F Nky; 
a. i, ii, iii  b. i, iii  c. ii, iii  d. i, ii 
 

24. Match the following 
Hill Station    State 
A. Nainital, Mussoorie  1. Himachal Pradesh 
B. Gulmarg    2. Uttarakhand 
C. Shimla, Manali   3. Jammu & Kashmir 
D. Gangtok    4. Sikkim 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 2 1 3 4 
d. 3 1 2 4 
nghUj;Jf. 
kiythoplq;fs;    khepyk; 
A. iedplhy;> Krpwp   1. ,khryg; gpuNjrk; 
B. Fy;kh;f;> =efh;   2. cj;jpufhz;l; 
C. rpk;yh> kzyp    3. [k;K fh~;kPh; 
D. fhq;lhf;     4. rpf;fpk; 
 
 A B C D 
a. 1 2 3 4 
b. 2 3 1 4 
c. 2 1 3 4 
d. 3 1 2 4 
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25. Match the following 
Religious Temples     State 
A. Saranath      1. Jammu & Kashmir 
B. Vaishnavadevi Temple    2. Uttarpradesh 
C. St. Francis Xavier Cathedral   3. Goa 
 A B C 
a. 1 2 3 
b. 2 1 3 
c. 3 1 2 
d. 3 2 1 
nghUj;Jf. 
rkaj; jyq;fs;      khepyk; 
A. rhuehj;       1. [k;K fh~;kPh; 
B. it~;ztp Njtp Nfhapy;   2. cj;jpug; gpuNjrk; 
C. nrapd;l; gpuhd;rp]; Nrtpah; Njthyak; 3. Nfhth 
 A B C 
a. 1 2 3 
b. 2 1 3 
c. 3 1 2 
d. 3 2 1 
 

26. Two students appeared at an examination one of them secured 9 marks 
more than the other and his marks was 56% of the sum of their marks. What 
are the marks obtained by other student?  
a. 33   b. 35    c. 44        d. 40 
,uz;L khzth;fs; xU Njh;it vOjpdhh;fs;.  mth;fspy; xU khzth; 
mLj;j khztiu tpl 9 kjpg;ngz;fs; $Ljyhfg; ngWfpwhh;.  mtuJ 
kjpg;ngz; mth;fspd; nkhj;j kjpg;ngz;zpy; 56 rjtPjk; MFk;. kw;nwhU 
khzth; ngw;w kjpg;ngz;fs; vd;d? 
a. 33   b. 35    c. 44        d. 40 

 
27. Vinoth purchased a house for ` 27,50,000. He spent ` 2,50,000 on repairs and 

painting. If he sells the house for ` 33,00,000 what is his profit or loss % ? 
a. 5%  b. 12%   c. 8%       d.  10% 
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xU tPl;il tpNehj; `27>50>000-f;F thq;Ffpwhh;. mth; tPl;il rPh; nra;tjw;fhf 
`2>50>000Ir; nrytpLfpwhh;. me;j tPl;il `33>00>000f;F tpw;fpwhh;. vdpy;> ,yhg 
my;yJ el;l rjtPjj;ijf; fz;Lg;gpbf;fTk;.  
a. 5%  b. 12%   c. 8%       d.  10% 

28. What percent of 2

7
is 1

?
35

 

a. 2.5%  b. 5%   c. 10%  d. 25% 
1

35
vd;gJ 2

7
y; vj;jid rjtpfpjk;? 

a. 2.5%  b. 5%   c. 10%  d. 25% 
 
29. A and B together can do a piece of work in 8 days, but A alone can do it 12 

days.  How many days would B alone take to do the same work? 
a. 24 days  b. 18 days   c. 12 days  d. 30 days 
xU Ntiyia A> B ,UtUk; Nrh;e;J 8 ehl;fspy; Kbg;gh;. A kl;Lk; 
mt;Ntiyia 12 ehl;fspy; Kbg;ghh;. B kl;Lk; mt;Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
a. 24 ehl;fs; b. 18 ehl;fs;  c. 12 ehl;fs; d. 30 ehl;fs; 

 
30. Two persons A and B are engaged in a work.  A can do a piece of work in 12 

days and B can do the same work in 20 days.  They work together for 3 days 
and then A goes away.  In how many days will B finish the work? 
a. 24 days  b. 18 days   c. 12 days  d. 30 days 
A xU Ntiyia 12 ehl;fspy; nra;J Kbg;ghh;.  B mNj ntiyia 20 
ehl;fspy; nra;J Kbg;ghh;.  A> B ,UtUk; Nrh;e;J mt;Ntiyia 3 ehl;fs; 
nra;jdh;.  gpd; A nrd;W tpl;lhh;.  kPjp Ntiyia B vj;jid ehl;fspy; 
Kbg;ghh;? 
a. 24 ehl;fs; b. 18 ehl;fs;  c. 12 ehl;fs; d. 30 ehl;fs; 

 
31. Which of the following movement urged its members to give up their caste 

surnames? 
a. Pure Tamil movement   b. Self-Respect movement 
c. Quit India movement   d. Bakthi movement 
fPo;f;fhZk; ve;j ,af;fk; mjd; cWg;gpdh;fis jq;fsJ [hjpapd; ngaiu 
jq;fs; ngaUld; ,ize;J miof;Fk; tof;fj;ijf; iftpl typAWj;jpaJ? 
a. jdpj;jkpo; ,af;fk;    b. Rakhpahij ,af;fk; 
c. nts;isaNd ntspNaW ,af;fk; d. gf;jp ,af;fk; 
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32. Choose the correct statements: 
I. Periyar‟s journal „Kudiarasu‟ „Revolt‟ and later „Viduthalai‟ carried on 

the effective propaganda of Self-respect ideals. 
II. In 1929 the First self-respect conference was held in Chengalpattu. 

 a. I, II   b. I  c. II   d. None  
rhpahd $w;Wfisj; Njh;T nra;f. 

I. nghpahhpd; ehNsLfshd „FbauR‟ „Gul;rp‟ „tpLjiy‟ Nghd;wit 
Rakhpahijf; fUj;Jf;fis rpwg;ghd Kiwapy; 

II. 1929 Mk; Mz;L nrq;fy;gl;by; KjyhtJ Rakhpahij khehL ele;jJ.  
 a. I, II   b. I  c. II   d. vJTkpy;iy  

 
33. Which of the following are related to the ruling period of Rajaji in 

TamilNadu? 
I. He introduced total prohibition (ban on liquor) 
II. Abolished Zamindari system 
III. He introduced legislations removing restrictions on temple entry for 

the depressed classes. 
 a. I, II, III  b. II, III  c. I, II  d. I, III 

jkpo;ehl;by; uh[h[papd; Ml;rpf;fhyj;Jld; njhlh;Gilait ahit? 
I. KOikahd kJ tpyf;F (kJ tpw;fj;jil)  
II. [kpd;jhhpKiw xopg;G 
III. xLf;fg;gl;Nlhh; mya EioTf;F ,Uf;Fk; jilia ePf;Ftjw;Fr; rl;lk; 

nfhz;Lte;jhh;. 
a. I, II, III  b. II, III  c. I, II  d. I, III 
 

34. Consider the following: 
Assertion (A): DMK decided to observe 26th January, 1965 as a „Day of 
mourning‟ 
Reason (R): In accordance with the provisions of Article 313 of the Indian 
constitution Hindi was made as the official language of the Indian union.  
a. Both A and R are true and R is the correct explanation of A 
b. A is true but R is false 
c. A is false but R is true 
d. Both A and R are true and R is not the correct explanation of A 
gpd;tUk; $w;Wfis Ma;f. 

 $w;W (A): 1965 Mk; Mz;L [dthp 26 Mk; ehis jp.K.f Jf;f   
  jpdkhf mDrhpf;fj; jPh;khdpj;jJ. 

fhuzk; (R): ,e;jpa muR mikg;Gr; rl;lj;jpd; cWg;G 313-d; gb ,e;jp nkhop 
,e;jpa ehl;bd; mYtyf nkhopahf Mf;fg;gl;lJ. 
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a. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fk;. 
b. A rhp Mdhy; R jtW 
c. A jtW Mdhy; R rhp 
d. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fky;y. 
 

35. Consider the following: 
Assertion (A): E.V. Ramasamy started the self-respect movement. 
Reason (R): The Self-respect movement with the aim of achieving a society 
where Non-Brahmin castes have equal human rights.  
a. Both A and R are true and R is the correct explanation of A 
b. A is true but R is false 
c. A is false but R is true 
d. Both A and R are true and R is not the correct explanation of A 
gpd;tUk; $w;Wfis Ma;f. 

 $w;W (A): <.nt.uh uhkrhkp Rakhpahij ,af;fj;ijj; njhlq;fpdhh;. 
fhuzk; (R): Rakhpahij ,af;fk; vd;gJ gpuhkzh; my;yhjhh; rkkhd kdpj 
chpikfis ngWk; Nehf;fj;Jld; njhlq;fg;gl;l ,af;fkhFk;. 
a. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fk;. 
b. A rhp Mdhy; R jtW 
c. A jtW Mdhy; R rhp 
d. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fky;y. 
 

36. Choose the incorrect pairs regarding seasons of TamilNadu. 
i. Winter Season   - January to March 
ii. Summer Season   - March to May 
iii. Southwest monsoon  - June to September 
iv. Northeast monsoon  - October to November 

 a. i, ii   b. i, iv  c. ii, iv  d. i, iii 
 jkpofj;jpd; gUtfhyq;fspy; jtwhd ,iziaf; fhz;f. 

i. Fsph;fhyk;     - [dthp – gpg;uthp 
ii. Nfhilf;fhyk;    - khh;r; - Nk 
iii. njd;Nkw;F gUtf;fhw;W fhyk; - [{d; - nrg;lk;gh; 
iv. tlfpof;F gUtf;fhw;W fhyk; - mf;Nlhgh; - etk;gh; 

 a. i, ii   b. i, iv  c. ii, iv  d. i, iii 
 

37. Consider the following: 
Assertion (A): All the rivers of the TamilNadu are non-perennial except  
     Thamirabarani 
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Reason (R): Thamirabarani is Fed by both the southwest monsoon and  
  northeast monsoon. 
a. Both A and R are true and R is the correct explanation of A 
b. A is true but R is false 
c. A is false but R is true 
d. Both A and R are true and R is not the correct explanation of A 
gpd;tUtdtw;iw Ma;f 
$w;W (A): jhkpuguzp Mw;iwj; jtpu jkpofj;jpd; kw;w MWfs; midj;Jk; 
tw;Wk; MWfshFk;. 

 fhuzk; (R): jhkpuguzp njd;Nkw;F kw;Wk; tlfpof;F Mfpa ,U  
 gUtkiio fhyq;fspYk; kio ngWtjhy; tw;whj Mwhf  cs;sJ. 

a. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fk;. 
b. A rhp Mdhy; R jtW 
c. A jtW Mdhy; R rhp 
d. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fky;y. 

 
38. Which of the following statements about TamilNadu is correct? 

i. It covers an area of 1,30,058 sq.km  
ii. 7th largest state in India. 
iii. It covers 4% of the area of the country. 
iv. Gulf of mannar and Palk strait separates TamilNadu from the Island of 

Srilanka. 
 a. i, ii, iii  b. ii, iii, iv  c. i, ii, iii, iv  d. i, iii, iv  
 jkpo;ehL gw;wpa gpd;tUk; $w;Wfspy; rhpahdit vit? 

i. mjd; gug;gsT 1>30>058 r.fp.kP MFk;. 
ii. 7tJ kpfg;nghpa ,e;jpa khepyk; 
iii. ,e;jpa gug;gpy; 4% If; nfhz;Ls;sJ. 
iv. kd;dhh; tisFlh kw;Wk; ghf; ePh;re;jp jkpo;ehl;ilAk; ,yq;ifiaAk; 

 gphpf;fpd;wd. 
 a. i, ii, iii  b. ii, iii, iv  c. i, ii, iii, iv  d. i, iii, iv  
 
39. Consider the following: 

i. Kollimalai has the largest cover of evergreen Forest when compared to 
other parts of Eastern Ghats. 

ii. Coimbatore plateau lies between the Nilgiris and Dharmapuri district. 
iii. River vaigai lies entirely in the state of TamilNadu. 

 a. i, ii, iii are correct   b. i, iii are correct 
 c. i, ii are incorrect   d. only ii is incorrect 
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 gpd;tUk; $w;Wfis Ma;f. 
i. fpof;F njhlh;r;rp kiyfspd; gpw gFjpfis xg;gpLifapy; nfhy;yp 

kiyapy; gRik khwhf;fhLfs; mjpfk; fhzg;gLfpd;wd. 
ii. Nfhak;Gj;J}h; gPlg+kpahdJ ePyfphp kw;Wk; jh;kGhp khtl;lq;fSf;F 

,ilNa mike;Js;sJ. 
iii. itif MW KOtJk; jkpofj;jpy; mike;Js;sJ. 

 a. i, ii, iii rhp b. i, iii rhp  c. i, ii jtW  d. ii kl;Lk; jtW 
40. Mullaiperiyar dam was built by the British administration in  

a. 1881  b. 1872  c. 1895  d. 1906 
Ky;iyg; nghpahW miz ve;j Mz;L Mq;fpy eph;thfj;jhy; fl;lg;gl;lJ? 
a. 1881  b. 1872  c. 1895  d. 1906 
 

41. Conditions to form a political party includes  
I. Must get registered with Election commission of India. 
II. Must have atleast 1000 members. 
III. Each member needs to hold a voting card 
IV. Must write a party constitution. 

 a. I, II, III, IV  b. I, III, IV  c. I, II  d. III, IV 
xU murpay; fl;rpia Njhw;Wtpg;gjw;fhd tpjpKiwfs; ahit? 
I. ,e;jpa Njh;jy; Mizaj;jpy; gjpT nra;jy; Ntz;Lk;. 
II. Fiwe;jgl;rk; Mapuk; cWg;gpdh;fs; nfhz;bUf;f Ntz;Lk;. 
III. xt;nthU cWg;gpdUk; thf;fhsh; ml;iliaf; nfhz;bUf;f Ntz;Lk;. 
IV. fl;rp mikg;G Fwpj;j Mtzj;ij nfhz;bUf;f Ntz;Lk;. 

 a. I, II, III, IV  b. I, III, IV  c. I, II  d. III, IV 
 

42. The criterias for the recognition of National parties in India. 
I. A party that secures atleast 6% of the valid votes in Loksabha election 

or assembly elections in four states. 
II. They must win 6 seats in Loksabha from any states. 
III. It has to win 2% of seat‟s in Loksabha from atleast 3 different states in 

the latest general election. 
 a. I, II, III  b. II, III  c. I, II   d. I, III 

,e;jpahtpy; Njrpa fl;rpfis mq;fPfhpg;gjw;fhd tpjpKiwfs; 
I. kf;fsit Njh;jypy; my;yJ ehd;F khepyq;fSf;fhd rl;lkd;w 

Njh;jypy; nry;yj;jf;f nkhj;j thf;Ffspy; xU fl;rp 6% thf;Ffis 
ngw;wpUf;f Ntz;Lk;. 

II. ve;j khepyj;jpYk; MW kf;fsitj; njhFjpfspy; ntw;wp ngw;wpUj;jy; 
Ntz;Lk;. 
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III. ,Wjpahf eilngw;w kf;fsit Njh;jypy; Fiwe;jgl;rk; 3 
khepyq;fspy; 2% njhFjpfspy; ntw;wp ngw;wpUj;jy; Ntz;Lk;. 

 a. I, II, III  b. II, III  c. I, II   d. I, III 
 

43. Which of the following statements about opposition party is correct? 
I. The party which gets second largest number of seats next to the 

majority party in the election. 
II. They are as important as that of ruling party. 
III. They check the autocratic tendencies of the ruling party. 
IV. The leader of the opposition party enjoys the rank of cabinet minister. 

 a. I, II, III, IV  b. I, II, III  c. II, III, IV  d. I, II, IV 
gpd;tUtdtw;Ws; vjph;f;fl;rp njhlh;ghd rhpahd $w;Wfisf; fhz;f. 
I. Njh;jypy; ngUk;ghd;ik ngw;w fl;rpf;F ,uz;lhtjhf mjpf 

vz;zpf;ifapy; cWg;gpdh;fis nfhz;l fl;rp. 
II. mJ MSk; fl;rp Nghd;Nw Kf;fpaj;Jtk; tha;e;j xd;whFk;. 
III. MSq;fl;rpapd; jd;dpr;irahd Nghf;fpid ,J fl;Lg;gLj;JfpwJ. 
IV. vjph;fl;rpj; jiyth; Nfgpdl; mikr;rh; me;j];ijf; nfhz;bUg;ghh;. 
a. I, II, III, IV  b. I, II, III  c. II, III, IV  d. I, II, IV 
 

44. Oligarchy form of government includes. 
a. A form of government in which power is in the hands of a small 

privileged ruling class. 
b. A system of government in which one person reigns supreme, usually a 

king or queen. 
c. A small group of people having control of a country or organization. 
d. A system of government by one person with absolute power. 
rpW FO Ml;rp vd;gJ 
a. cah;Fb Ml;rp mjpfhuj;jpy; mjpfhuk; rpW> rpwg;Ghpikfs; ngw;w MSk; 

th;f;fj;jpdhplk; ,Uf;Fk;. 
b. xU egh;> tof;fkhf muruhy; mikf;fg;gLk; murhq;fkhFk;. 
c. kf;fspd; rpwpa FO xd;W xU ehl;ilNah my;yJ mikg;igNah 

fl;Lg;gLj;JtJ. 
d. KO mjpfhuk; nfhz;l xU eguhy; mikf;fg;gLk; murhq;fk;. 
 

45. Which of the following statements about parliament building is correct? 
I. It was designed by the British architects Edwin Lutyens and Herbert 

Baker in 1912-13. 
II. Construction began in 1921. 

 a. I, II  b. I   c. II   d. None 
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gpd;tUk; $w;Wfspy; ehlhSkd;w fl;blk; gw;wpa rhpahd $w;Wfs; vit? 
I. ,jid 1912-13 Mk; Mz;L vl;tpd; Yl;bad;]; kw;Wk; n`h;gh;l; Ngf;fh; 

vDk; gphpl;b~; fl;blf; fiyQh;fs; tbtikj;jdh;. 
II. ,f;fl;blkhdJ 1921 Mk; Mz;L fl;lj; njhlq;fg;gl;lJ. 

 a. I, II  b. I   c. II   d. VJkpy;iy 
46. Choose the correct statement from the following 

i. In December 1884 the Theosophical society meeting was held in 
Madras 

ii. The meeting was presided by A.O Hume 
a. i only   b. ii only  c. Both i and ii  d. None 
gpd;tUtdtw;wpy; rhpahd thf;fpaj;ijj; Njh;T nra;f.  
i. 1884> brk;ghpy; jpNahrhgpfy; r%fj;jpd; $l;lk; nkl;uh]py; eilngw;wJ 
ii. $l;lj;jpw;F A.O. `PAk; jiyikNaw;whh; 
d. i kl;Lk;   b. ii kl;Lk;   
c. i & ii ,uz;Lk;  d. vJTkpy;iy  

 
47. Which among the following was founded by Dadabhai Naoroji? 

i. The Indian Reform Society ii. London Indian Society 
iii. The East Indian association 
a. All the above    b. i and ii only 
c. ii and iii only    d. i and iii only 
gpd;tUtdtw;wpy; jhjhgha; nesNuh[pahy; Njhw;Wtpf;fg;gl;lJ vJ?  
i. ,e;jpa rPh;jpUj;j r%fk;  ii. yz;ld; ,e;jpa fofk; 
iii. fpof;fpe;jpa fofk;  
a. Nkw;fz;l midj;Jk;  b. i kw;Wk; ii kl;Lk;  
c. ii kw;Wk; iii kl;Lk;   d. i kw;Wk; iii kl;Lk;  

 
48. The shorthand was used by the police for the first time to record political 

speeches during which movement? 
 a. Anti partition of Bengal movement 
 b. Non co-operation movement 
 c. Quit India Movement 
 d. Civil Disobedience movement 

RUf;nfOj;J ve;j ,af;fj;jpd; NghJ murpay; ciufis gjpT nra;a 
fhty;Jiwapduhy; Kjd; Kiwahf gad;gLj;jg;gl;lJ?  
a. tq;f ,af;fj;jpd; vjph; gphptpid  
b. xj;Jioahik ,af;fk;  
c. nts;isaNd ntspNaW ,af;fk;  
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d. rl;l kWg;G ,af;fk;  
 

49. Arrange the following in chronological order 
i. Reduction in number of elected Indian representatives in the Calcutta 

Corporation 
ii. The University Act 
iii. indian Press Act 
a. iii – ii – i  b. iii – i – ii c. ii – iii- i  d. i – ii - iii  
gpd;tUtdtw;iw fhythpirg;gLj;Jf.  
i. fy;fj;jh efuhl;rpapy; Njh;e;njLf;fg;gl;l ,e;jpa gpujpepjpfspd; 

vz;zpf;ifia Fiwj;jy;  
ii. gy;fiyf;fof rl;lk;  
iii. ,e;jpa gj;jphpf;ifr; rl;lk;  
a. iii – ii – i  b. iii – i – ii c. ii – iii- i  d. i – ii - iii  

 

50. Consider the following  
Assertion (A): The Justice Party opposed the Home Rule Movement 
Reason (R): The Justice Party Feared that home rule would give the 
Brahmins more power 
a. A and R are true R is correct explanation of A 
b. A and R are true R is not correct explanation of A 
c. A is true but R is false 
d. A is false but R is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A): ePjpf;fl;rp jd;dhl;rp ,af;fj;ij vjph;j;jJ 
fhuzk; (R): jd;dhl;rp ,af;fk; gpuhkzh;fSf;F mjpf mjpfhuq;fis 
toq;fptpLnkd ePjpf;fl;rp mQ;rpaJ 
a. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fk; 
b. A kw;Wk; R rhp R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 

 

51. Match the following 
A. Partition of Bengal officially declared 1. 16 Oct 1905 
B. Proclamation of Swadeshi movement 2. 19 July 1905 
C. Bengal officially partitioned   3. 7 August 1905 

  A B C 
 a. 1 2 3 
 b. 2 3 1 
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 c. 3 2 1 
 d. 1 3 2 

nghUj;Jf:  
A. tq;fg;gphptpid mjpfhug;G+h;tkhf  

 ntspaplg;gl;lJ      1. 16 mf;Nlhgh;> 19054  
B. RNjrp ,af;fj;jpd; gpufldk;    2. 19 [Piy> 1905  
C. tq;fhsk; Kiwahf gphpf;fg;gl;lJ  3. 7 Mf];l;> 1905  

  A B C 
 a. 1 2 3 
 b. 2 3 1 
 c. 3 2 1 
 d. 1 3 2 

 
52. “The Swadeshi movement is not only for the improvement of our industry 

but for an allround enhancement of our national life…” 
Whose quotes are these? 
a. Bipin Chandra Pal   b. Gopala Krishna Gokulae 
c. B.G Tilak    d. Lala Rajpat Rai 
"RNjrp ,af;fk; ekJ njhopy; Jiwapd; Kd;Ndw;wj;jpw;fhf kl;Lky;y> ekJ 
Njrpa tho;f;ifapd; midj;J epiyfspd; Nkk;ghl;bw;Fk;" vd;W $wpath; 
ahh;?  
a. gpgpd; re;jpu ghy;   b. Nfhghy fpU~;z NfhfNy  
c. gp.[p. jpyfh;    d. yhyh y[pgjpuha;  

 
53. The constructive programme of atmashakti (self help) was outlined by 

whom? 
a. B.G Tilak    b. Bipin Chandra Pal 
c. Rabindranath Tagore  d. Mahatma Gandhi 
Mj;krf;jp (Ra cjtp)-d; Mf;fG+h;tkhd jpl;lk; ahuhy; Nfhbl;Lf; 
fhl;lg;gl;lJ?  
a. gp.[p. jpyfh;    b. gpgpd;re;jpughy;  
c. utpe;jpuehj; jh$h;   d. kfhj;kh fhe;jp  

 
54. Choose the incorrect pair? 

a. ITC - Integrated Tour Charter 
b. TAAI - Travel Agents Association of India 
c. TTTHA - Tamilnadu Tour Travel and Hospitality Association 
d. TTDC - Tamilnadu Tourism Development Corporation 
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jtwhz ,iziaf; fhz;f. 
a. ITC - xUq;fpize;j FO Rw;Wyh 
b. TAAI - ,e;jpa gz Kfth;fs; rq;fk; 
c. TTTHA - jkpo;ehL Rw;Wyh gazk; kw;Wk; tpUe;Njhk;gy; rq;fk; 
d. TTDC - jkpo;ehL Rw;Wyh tsh;r;rp fofk; 
 

55. Which is known as the Niagara of India? 
a. Jog Water Falls   b. Nohkalikai Waterfalls 
c. Courtrallam Waterfalls  d. Aathirappally waterfalls 
,e;jpahtpd; eafuh vd;W miof;fg;gLtJ vJ? 
a. N[hf; ePh;tPo;r;rp   b. Nehfhsp fha; ePh;tPo;r;rp 
c. Fw;whyk; ePh;tPo;r;rp   d. mjpug;gs;sp ePh;tPo;r;rp 
 

56. Two taps can fill a tank in 30 minutes and 40 minutes.  Another tap can 
empty it in 24 minutes.  If the tank is empty and all the three taps are kept 
open, in how much time the tank will be filled? 
a. ½ hour  b. 1 hour  c.1 ½ hours  d. 2 hours 
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 30 epkplq;fs;> 40 
epkplq;fspy; epug;Gfpd;wJ.  kw;nwhU Foha; ePh; epuk;gpa njhl;bia 24 
epkplq;fspy; fhyp nra;Ak;.  njhl;b fhypahf ,Ue;J ,k;%d;W Foha;fSk; 
xNu rkaj;jpy; jpwe;J tplg;gl;lhy;> mj;njhl;b vj;jid epkplq;fspy; epuk;Gk;? 
a. ½ kzp  b. 1 kzp  c. 1 ½ kzp  d. 2 kzp 

 
57. Tharun makes a deposit of Rupees two lakhs in a bank for 5 years.  If the 

rate of interest is 8% per annum, find the maturity value. 
a. `1,80,500  b. `2,50,000  c. `2,80,000 d. ` 80,000  
jUz; vd;gth; ,uz;L yl;r &ghia 5 Mz;LfSf;F xU tq;fpapy; epue;ju 
itg;Gj; jpl;lj;jpy; KjyPL nra;fpd;whh;.  mt;tq;fp Mz;nlhd;Wf;F 8% jdp 
tl;b jUfpd;wJ vdpy; 5 Mz;Lfs; Kbtpy; mtUf;Ff; fpilf;Fk; nkhj;jj; 
njhif vt;tsT? 
a. `1,80,500  b. `2,50,000  c. `2,80,000 d. ` 80,000  

 
58. Six men working 10 hours a day can do a piece of work in 24 days. In how 

many days will 9 men working for 8 hours a day do the same work? 
a. 24 days   b. 20 days  c. 16 days   d. 10 days 
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6 Mz;fs; xU Ntiyia ehnshd;Wf;F 10 kzp Neuk; Ntiy nra;J 24 
ehl;fspy; Kbg;gh;. 9 Mz;fs;> ehnshd;Wf;F 8 kzp Neuk; Ntiy nra;jhy;> 
vj;jid ehl;fspy; mt;Ntiyia Kbg;gh;? 
a. 24 ehl;fs;  b. 20 ehl;fs; c. 16 ehl;fs;  d. 10 ehl;fs; 
 

59. If 2,400 sq.m. of land can be tilled by 12 workers in 10 days, how many 
workers are needed to till 5,400 sq.m. of land in 18 days? 
a. 45   b. 30   c. 15   d. 5 
2400 r.kP. epyj;ij 12 Ntiyahl;fs; 10 ehl;fspy; cOJ Kbg;gh;. 5400 r.kP. 
epyj;ij 18 ehl;fspy; cOtjw;F vj;jid Ntiy Ml;fs; Njit? 
a. 45   b. 30   c. 15   d. 5 

 
60. The price of a house is decreased from Rupees Fifteen lakhs to Rupees 

Twelve lakhs. Find the percentage of decrease. 
   a. 20%  b. 10%  c. 30%  d. 22% 

xU tPl;bd; tpiy 15 ,yl;rk; &ghapypUe;J 12 ,yl;rk; &ghahff; 
Fiwe;jJ vdpy; Fiwe;j rjtPjk; fhzTk;. 
a. 20%  b. 10%  c. 30%  d. 22% 

 
61. Match the following 

Waterfalls    Location 
A. Thalaiyar   1. Dindigul 
B. Jog    2. Shimoga 
C. Nohkalikai   3. East Khasi 
D. Aathirappally  4. Thrissur 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
nghUj;Jf. 
ePh;tPo;r;rpfs;   ,lk; 
A. jhioahh;   1. jpz;Lf;fy; 
B. N[hf;    2. ~pNkhfh 
C. Nehfhsp fha;   3. fpof;F fhrp 
D. mjpug;gs;sp   4. jphpr;#h; 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
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c. 2 1 3 4 
d. 2 1 4 3 
 

62. Match the following 
A. Mudumalai Wildlife Sanctuary  1. Kerala 
B. Bhadra Wildlife Sanctuary   2. Karnataka 
C. Periyar National Park    3. Tamilnadu 
D. Corbett National Park    4. Uttarakhand 
 A B C D 
a. 1 2 3 4 
b. 3 2 1 4 
c.  3 4 1 2 
d. 1 3 2 4 
nghUj;Jf. 
A. KJkiy tdtpyq;F ruzhyak;  1. Nfush 
B. gj;uh td ruzhyak;    2. fh;ehlfh 
C. nghpahh; Njrpa g+q;fh    3. jkpo;ehL 
D. fhh;ngl; Njrpa g+q;fh    4. cj;jufhz;l; 
 A B C D 
a. 1 2 3 4 
b. 3 2 1 4 
c.  3 4 1 2 
d. 1 3 2 4 
 

63. Which of the following beach is present in Karnataka? 
a. Varkala Beach  b. Tarkarli Beach 
c. OM Beach   d. Aguda Beach 
gpd;tUtdtw;Ws; fh;ehlfhtpy; mike;Js;s flw;fiu vJ? 
a. tw;fiy flw;fiu  b. jh;fhh;yp flw;fiu 
c. Xk; flw;fiu   d.mFjh flw;fiu 
 

64. Choose the incorrect statement: 
a. Ayyankali was inspired by Sree Naranyana Guru  
b. He founded „Sadhu Jana Paripalana Sangam‟ in 1907   
c. He raised funds to educate the lower cast Baduga people  
d. He challenged many caste conventions such as clothing style 
jtwhd $w;iw Njh;T nra;f.  
a. =ehuhazFUthy; Cf;fk;ngw;whh; ma;ad;fhsp  
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b. 1907 ,y; rhJ [d ghpghyd rq;fk; vDk; mikg;ig epWtpdhh;.  
c. fPo;rhjpahff; fUjp xLf;fg;gl;l gLfh; r%fkf;fspd; fy;tpf;fhf 

,t;tikg;G ,af;fk; elj;jp epjpjpul;baJ.  
d. Mil mzptJ cl;gl> gy kuGrhh;e;j gof;fq;fis mth; vjph;j;jhh;.  

65. Who organized a campaign for legislation against the practice of child 
marriage? 
a. Behrramji Malabari   b. Baba Dayal Das  
c. Baba Ram Singh    d. Rajaram Mohan Roy 
 ahh; Foe;ijj; jpUkzg; gof;fj;jpw;F vjpuhd rl;lk; ,aw;wg;gl Ntz;Lnkd 
,af;fk; elj;jpdhh;?  
a. ngh;uk;[p ky;ghhp   b. ghgh jahy; jh];  
c. ghgh uhk; rpq;    d. ,uh[huhk; Nkhfd;uha; 

 
66. “Jeevakarunya” is associated with? 

a. Ramalinga Swamigal   b. Vaikunda Swamigal  
c. Narayana Guru   d. Ayyankali 
'[PtfhUz;ak;' ahUld; njhlh;GilaJ?  
a. uhkypq;f Rthkpfs;   b. itFz;l Rthkpfs;  
c. ehuhaz FU    d. ma;ad; fhsp  
 

67. Who criticised the rule of the British and the rule of Rajah of Travancore as 
the rule of white devils and black devils respectively? 
a. Narayana Guru   b. Ayyankali  
c. Vaikunda Swamigal   d. Ramalinga Swamigal 
ahh; Mq;fpy Ml;rpiaAk; jpUtpjhq;$H murhpd; Ml;rpiaAk; KiwNa 
'nts;isg; gprhRfspd; Ml;rpnad;Wk;' 'fWg;Gg; gprhRfspd; Ml;rpnad;Wk; 
tpkh;rpj;jhh;?  
a. ehuhaz FU    b. ma;ad; fhsp  
c. itFz;l Rthkpfs;  d. uhkypq;f Rthkpfs;  
 

68. When Vaikundar commenced his meditation at Samithoppu for abolition of 
caste difference and social integration of the society? 
a. 1830  b. 1831  c. 1832  d. 1833  
vg;NghJ rhjpNtw;Wikfis xopg;gjw;fhfTk; r%f xUq;fpizg;GfshfTk; 
rhkpj;Njhg;gpy; itFz;lh; jdJ jpahdj;ij Jtf;fpdhh;?  
a. 1830  b. 1831  c. 1832  d. 1833  
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69. Choose the incorrect pair: 
i. Vaigai dam  - Little Brindavan 
ii. Papanasam Dam - Karaiyar dam 
iii. Sathanur Dam  - Biggest earthern dam 

 a. i, ii   b. ii   c. iii   d. ii, iii 
 

jtwhd ,iziaf; fhz;f. 
i. itif miz  - rpwpa gpUe;jhtdk; 
ii. ghgehrk; miz  - fiuahh; miz 
iii. rhj;jD}h; miz - kz; fyitahyhd kpfg;nghpa miz 

 a. i, ii   b. ii   c. iii   d. ii, iii 
 
70. Match the following: 

A. Magnesite  1. Salem 
B. Ilmenite   2. Kanyakumari 
C. Gypsum  3. Tiruchirappalli 
D. Bauxite   4. Servarayan Hills 
E. Coal   5. Ramanathapuram 
 A B C D E 
a. 1 2 3 4 5 
b. 4 2 3 1 5 
c. 2 3 4 5 1 
d. 3 5 4 1 2 
nghUj;Jf. 
A. Nkf;dirl;   1. Nryk; 
B.  ,y;kidl;   2. fd;dpahFkhp 
C. [pg;rk;    3. jpUr;rpuhg;gs;sp 
D. ghf;irl;   4. Nrh;tuhad; kiy 
E.  epyf;fhp    5. ,uhkehjGuk; 
 A B C D E 
a. 1 2 3 4 5 
b. 4 2 3 1 5 
c. 2 3 4 5 1 
d. 3 5 4 1 2 
 

71. Which is called as the textile capital of TamilNadu? 
a. Karur  b. Thiruppur  c. Coimbatore d. Erode 
jkpo;ehl;bd; nerTj; jiyefuk; vd miof;fg;gLtJ vJ? 
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a. f&h;  b. jpUg;g+h;   c. Nfhak;gj;J}h; d. <NuhL 
 

72. Match the following based on GI Tag. 
Place    Product 
A. Coimbatore  1. Hill Banana 
B. Nagercoil  2. Kuthuvilakku 
C. Swamimalai  3. Wet grinder 
D. Nachiarkovil  4. Temple Jewellery 
E. Sirumalai  5. Bronze Icons 
 A B C D E 
a. 3 2 5 4 1 
b. 3 4 5 2 1 
c. 3 2 5 1 4 
d. 3 5 2 4 1 
Gtprhh; FwpaPL mbg;gilapy; gpd;tUtdtw;iwg; nghUj;Jf. 
,lk;     nghUs; 
A. Nfhak;Gj;J}h;   1. kiy thio 
B. ehfh; Nfhtpy;   2. Fj;J tpsf;F 
C. Rthkpkiy   3. khT miuf;Fk; ,ae;jpuk; 
D. ehr;rpahh; Nfhtpy;  4. Nfhapy; eiffs; 
E. rpWkiy    5. ntz;fyr; rpiyfs; 
 A B C D E 
a. 3 2 5 4 1 
b. 3 4 5 2 1 
c. 3 2 5 1 4 
d. 3 5 2 4 1 
 

73. Choose the correct statement: 
i. Tamilnadu accounts for 60% of leather tanning processes of India. 
ii. Vellore district is the top exporter of finished leather goods in the 

country. 
iii. Central Leather Research Institute is located in Ranipet. 

 a. i, ii, iii  b. ii, iii  c. i, ii   d. ii 
 rhpahd $w;Wfis Njh;e;njL. 

i. ,e;jpahtpd; gjdpLk; njhopyfq;fspy; jkpofk; 60% cw;gj;jpia 
nfhz;Ls;sJ. 

ii. Njhy; kw;Wk; Njhy; rhh;e;j cw;gj;jp nghUs;fspd; Vw;Wkjpapy; NtY}h; 
Kjd;ik khtl;lkhf tpsq;FfpwJ. 
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iii. kj;jpa Njhy; Muha;r;rp epWtdk; kw;Wk; Ma;tfk; (CLRI) 
uhzpg;Ngl;ilapy; mike;Js;sJ. 

 a. i, ii, iii  b. ii, iii  c. i, ii   d. ii 
74. Consider the following: 

Assertion (A): Direct Democracy is practiced in Switzerland. 
Reason (R): People directly participates in decision making. 
a. Both A and R are true and R is the correct explanation of A 
b. A is true but R is false 
c. A is false but R is true 
d. Both A and R are true and R is not the correct explanation of A 
gpd;tUk; $w;Wfis Ma;f. 

 $w;W (A): Rtpl;rh;yhe;J ehl;by; Neub kf;fshl;rp Kiw   
eilKiwapy; cs;sJ. 

fhuzk; (R): nghJ tptfhuq;fspy; kf;fs; Neubahf KbntLf;fpd;wdh;. 
a. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd   tpsf;fk;. 
b. A rhp Mdhy; R jtW 
c. A jtW Mdhy; R rhp  
d. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fky;y. 
 

75. Choose the correct statements: 
I. The electoral system in India has been adapted from the system 

followed in the United Kingdom. 
II. Articles 324 to 329 in Part XV of the constitution deals with election 

commission of India. 
III. At present a election commission of India consists of a Chief Election 

Commissioner and two election commissioners. 
IV. In India every year national voters day was celebrated on 25th January. 

 a. I, II, III, IV  b. II, III, IV c. III, IV  d. I, II 
rhpahd $w;Wfisj; Njh;e;njL. 
I. ,e;jpa Njh;jy; Kiw ,q;fpyhe;jpy; gpd;gw;wg;gLk; Njh;jy; Kiwapid 

gpd;gw;wp Vw;Wf;nfhs;sg;gl;lJ. 
II. ,e;jpa murpayikg;gpd; XV Mk; gFjpapYs;s 324 Kjy; 329 

tiuapyhd gphpTfspy; ,e;jpa Njh;jy; Mizak; gw;wp $wg;gl;Ls;sJ. 
III. Njh;jy; MizakhdJ xU jiyikj; Njh;jy; Mizah; kw;Wk; ,uz;L 

Njh;jy; Mizah;fis cs;slf;fpAs;sJ. 
IV. ,e;jpahtpy; [dthp 25 Mk; ehis Njrpa thf;fhsh; jpdkhf 

nfhz;lhLfpNwhk;. 
  a. I, II, III, IV  b. II, III, IV c. III, IV  d. I, II 
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76. Choose the correct statements about „NOTA‟ 
I. Rule 49-0 in the conduct of Election Rules, 1961 of India describes this 

procedure. 
II. First introduced in the General Election held in 2014. 
III. India is the 7th country in the world to introduce NOTA. 

 a. I, II, III  b. I, II  c. II, III  d. I, III 
“Nehl;lh” gw;wpa rhpahd $w;iwj; Njh;e;njLf. 
I. ,e;jpa Njh;jy; elj;ij tpjpfs; (1961) -,y; rl;lj;jpd; tpjp vz; 49-0 

,k;Kiw gw;wp tpthpf;fpwJ.  
II. 2014Mk; Mz;L nghJj; Njh;jypy; Kjd;Kiwahf mwpKfk; 

nra;ag;gl;lJ. 
III. cyfpy; “Nehl;lh” it mwpKfg;gLj;Jk; 7-tJ ehlhf ,e;jpah cs;sJ. 

 a. I, II, III  b. I, II  c. II, III  d. I, III 
 

77. The term „pressure group‟ originated in ______ 
a. America   b. England  c. Canada  d. Swedan 
„mOj;jf; FOf;fs;‟ vd;w nrhy; vq;F cUthdJ? 
a. mnkhpf;fh  b. ,q;fpyhe;J c. fdlh  d. ];tPld; 
 

78. Consider the following: 
Assertion (A): Indian constitution provides for an Independent    
      Election commission. 
Reason (R): To ensure free and fair elections in the country. 
a. Both A and R are true and R is the correct explanation of A 
b. A is true but R is false 
c. A is false but R is true 
d. Both A and R are true and R is not the correct explanation of A 
gpd;tUk; $w;Wfis Ma;f. 

 $w;W (A): ,e;jpa murpayikg;G Rje;jpukhf nray;gLk; Njh;jy;    
 Mizaj;jpw;F toptif nra;fpwJ. 
 fhuzk; (R): ,J ehl;bd; Rje;jpukhd epahakhd Njh;jiy elj;j   
  cWjp nra;fpwJ. 

a. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fk;. 
b. A rhp Mdhy; R jtW 
c. A jtW Mdhy; R rhp  
d. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fky;y. 
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79. Arrange the following in chronological order  
i. Foundation of Dawn society 
ii. Bengal National College 
iii. National Council of Education 
a. i – ii – iii  b. i – iii – iic. iii – ii – I  d. iii – i – ii 
gpd;tUtdtw;iw fhythpirg;gLj;Jf.  
i. tpbnts;spf; fofj;jpd; Njhw;wk; 
ii. tq;fhs Njrpa fy;Y}hp  
iii. Njrpa fy;tp fTd;rpy;  
a. i – ii – iii  b. i – iii – iic. iii – ii – I  d. iii – i – ii 

 
80. Choose the correctly matched pair 

i. B.G. Tilak- swaraj was restricted to administration and not total 
severance of relation with British 

ii. Bipin Chandra Pal – Swaraj was attainment of complete freedom from 
any foreign rule 

a. i only  b. ii only  c. Both i and ii  d. None 
rhpahf nghUe;jpAs;s ,iziaj; Njh;T nra;f.  
i. gp.[p. jpyfh; - Rauh[; eph;thfj;ij fl;Lg;gLj;jpdhh; Mdhy; gphpl;b~; 

cldhd cwit gphpf;ftpy;iy.  
ii. gpgpd;re;jpughy; - ve;jnthU ntspehl;L Ml;rpapypUe;Jk; KOikahd 

Rje;jpuj;ij miltNj Rauh[;.  
a. i kl;Lk;  b. ii kl;Lk;  c. i & ii ,uz;Lk;  d. vJTkpy;iy  

 
81. Who among the following founded the Dhaka Anushilan family in 1906? 

a. Jatindernath Banerjee   b. Barindarkumar Ghose 
c. Pulin Das     d. Rashbehari Ghose 
1906-y; lhf;fh mDrpyhd; rkpjpia Njhw;Wtpj;jth; ahh;?  
a. [pNje;jpuehj; ghdh;[p   b. ghpe;jpuFkhh; Nfh~;  
c. G+ypd; jh];     d. uh~;gpfhhp Nfh];  

 
82. Who among the following went abroad to get military training in Paris? 

a. Jatindernath Banerjee  b. Khudiram Bose 
c. prafulla Chaki   d. Hemchandra Kanungo 
ghhp]py; ,uhZtg; gapw;rp ngw gpd;tUgth;fspy; ahh; ntspehL nrd;whh;?  
a. [pj;Nje;jpuehj; ghdh;[p  b. Fjph;uhk; Ngh]; 
c. gpuhGyh rh`p    d. N`kre;jpu fDq;Nfh 
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83. Arrange the following in chronological order 
i. Bipin Chandra Pal visit to Madras 
ii. The Swadeshi steam navigation company 
iii. Corol Mill strike 
a. i – ii – iii  b. ii – i – iii c. iii – ii – i   d. iii – I – ii 
gpd;tUtdtw;iw fhythpirg;gLj;Jf.  
i. gpgpd;re;jpughy; nkl;uh]pf;F tUif Ghpe;jJ  
ii. RNjrp ePuhtp fg;gy; fk;ngdp 
iii. gts Miy Nghuhl;lk;  
a. i – ii – iii  b. ii – i – iii c. iii – ii – i   d. iii – I – ii 

 
84. The Swadeshi leaders of Tamil Nadu celebrated „Swarajya Day‟ for whose 

release from jail? 
a. B.G Tilak   b. Lala Lajpat Rai   
c. Bipin Chandra Pal      d. V.O Chidambaram Pillai  
jkpo;ehl;bd; RNjrp jiyth;fs; ahUila tpLjiyia Rauh[;a ehshff; 
nfhz;lhbdh;?  
a. B.G. jpyfh;   b. yhyh y[gjp uha;  
c. gpgpd; re;jpughy;  d. V.O. rpjk;guk; gps;is  
 

85. Who among the following participated in Swarjya Day? 
1. Subramania Siva    2. Subramania Bharati 
3. V.O Chidambaram Pillai  d. Padmanabha Iyengar     
a. all the above     b. 1, 2, and 3 only 
c. 2, 3 and 4 only   d. 1, 3 and 4 only 
 gpd;tUgth;fSs; Rauh[;a ehspy; fye;J nfhz;lth;fs; ahh;?  
1. Rug;gpukzpa rpth   2. Rg;gpukzpa ghujp  
3. V.O. rpjk;guk; gps;is  4. gj;kehg Iaq;fhh;  
a. midj;Jk;     b. 1, 2, kw;Wk; 3 kl;Lk;  
c. 2, 3 kw;Wk; 4 kl;Lk;   d. 1, 2 kw;Wk; 3 kl;Lk;  

 
86. Find the total amount if 12% of it is ` 1080. 

a. ` 129.6  b. ` 2160   c. ` 9000  d. ` 6000 
xU njhifapd; 12% vd;gJ ` 1080 vdpy; mj;njhifiaf; fhz;f. 
a. ` 129.6  b. ` 2160   c. ` 9000  d. ` 6000 
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87. The cost price of 16 note books is equal to the selling price of 12 note books. 
Find the gain percent.  
a. 30%  b. 33.33%   c. 25%   d. 20% 
16 Nehl;L Gj;jfq;fspd; mlf;f tpiy> 12 Nehl;L Gj;jfq;fspd; tpw;gid 
tpiyf;F rkk;. ,jd; ,yhg rjtPjj;ijf; fhzTk;. 
a. 30%  b. 33.33%   c. 25%   d. 20% 

 
88. If the S.P. of an article is Rs. 260 and the discount given on it is Rs. 28, then 

the M.P. is ______ 
a. Rs. 212  b. Rs. 228  c. Rs. 268  d. 288 
xU nghUspd; tpw;w tpiy ` 260> js;Sgb ` 28 vdpy;> Fwpj;j tpiy 
________. 
a. Rs. 212  b. Rs. 228  c. Rs. 268  d. 288 

 
89. Gayathri invested a sum of Rs. 12,000 at 5% p.a. at compound interest. She 

received an amount of Rs. 13,230 after „n‟ years. Find the value of „n‟. 
a. 2 years   b. 3 years  c. 2 ½ years  d. 1 ½ years 
fhaj;hp fhaj;up &.12>000 I 5% Mz;L $l;L tl;b jUk; xU tq;fpapy; „n‟ 
Mz;LfSf;F KjyPL nra;jhh;. mth; Kbtpy; &. 13>230 ngw;whh;. „n‟,d; 
kjpg;G vd;d? 
a. 2 Mz;Lfs;  b. 3 Mz;Lfs;   
c. 2 ½ Mz;Lfs; d. 1 ½ Mz;Lfs; 

 
90. The population of a village increases by 9% every year which is due to the 

job opportunities available in that village. If the present population of the 
village is 11,881, what was the population two years ago? 

 a. 9,900  b. 12,000  c. 10,000  d. 10,500 
Ntiy tha;g;G mjpfKs;sjhy; xU fpuhkj;jpy; cs;s kf;fs; njhif 
Mz;nlhd;Wf;F 9% mjpfhpj;jJ. ,g;NghJ mjd; kf;fs; njhif 11>881 
vdpy; ,uz;lhz;LfSf;F Kd;dh; mjd; kf;fs; njhif vd;dthf 
,Ue;jpUf;Fk;? 

 a. 9,900  b. 12,000  c. 10,000  d. 10,500 
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91. Choose the incorrect pairs 
1. Ooty    - Queen of Hills 
2. Yercaud   - Poor men‟s ooty 
3. Kodaikanal   - Princess of Hill Stations 
4. Kotagiri    - Green Hills 
5. Velliangiri Hills  - Kailash of the South 
6. Meghamalai   - Nature‟s Heaven 
7. Javadi    - Highway mountains 
a. 4, 5  b. 6, 7  c. 4, 5, 6  d. 5, 6, 7 
jtwhd ,iziaf; fhz;f. 
1. Cl;b   - kiyfspd; uhzp 
2. Vw;fhL   - Viofspd; Cl;b 
3. nfhilf;fhdy;  - kiyfspd; ,sturp 
4. Nfhj;jfphp   - gr;ir kiy 
5. nts;saq;fphp kiy - njw;fpd; ifyh~; 
6. Nkfkiy   - ,aw;ifapd; nrhh;f;fk; 
7. [t;thJ   - cah;e;j Nkfq;fs; FtpAk; gFjp 
a. 4, 5  b. 6, 7  c. 4, 5, 6  d. 5, 6, 7 

 
92. Choose the correct statements 

1. In 2017, India was the largest country of origin of International migrants 
2. In 2007, for the first time in history, the global urban population exceeded 

the global rural population and the world population has remained 
predominantly urban thereafter 

a. 1, 2  b. 1  c. 2  d. none of these 
gpd;tUk; $w;Wfspy; rhpahdit vit? 
1. 2017 Mk; Mz;by; rh;tNjr Gyk; ngah;tpy; ,e;jpah kpfg;nghpa ehlhf 

cs;sJ. 
2. 2007 Mk; Mz;L tuyhw;wpy; Kjy; Kiwahf cyf efh;g;Gw 

kf;fs;njhif Cuf kf;fs; njhifiatpl mjpfkhdJ> mjd; gpwF 
efh;g;Gw kf;fspd; rjtPjk; njhlh;e;J mjpfhpj;j tz;zk; cs;sJ. 

a. 1, 2  b. 1  c. 2  d. VJkpy;iy 
 

93. The main reason for the development of urbanisation in pre-historic period 
was 
a. production of food grains b. domestification of cattle 
c. fishing     d. hunting 
tuyhw;Wf;F Ke;ija fhyj;jpy; efukakhf;fYf;F Kf;fpa fhuzkhf 
miktJ vJ? 
a.  czT jhdpa cw;gj;jp  b. fhy;eilfis tPl;by; guhkhpj;jy; 
c. kPd; gpbj;jy;    d. Ntl;ilahLjy; 
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94. Which of the following statements about census is/are correct? 
i. First known census was undertaken nearly six thousand years ago by 

the Babylonians in 3800 BCE 
ii. Germany was the first country in the modern world to conduct a 

census 
iii. In India, the first census was carried out in the year 1872 
iv. In India, censuses have been conducted regularly every tenth year 

since 1881 
a. i, ii, iii, iv  b. i, ii, iv  c. ii, iii, iv  d. i, iii, iv 
kf;fs; njhif fzf;nfLg;G gw;wpa gpd;tUk; $w;Wfspy; rhpahdit vit? 
i. ghgpNyhdpy; fp.K.3800y; cyfpd; Kjy; kf;fs;njhif fzf;nfLg;G 

ele;jJ. 
ii. etPd cyfpy; kf;fs;njhif fzf;nfLg;ig Kjy;Kjypy; elj;jpa ehL 

n[h;kdp MFk;. 
iii. ,e;jpahtpy; 1872y; Kjd;Kjyhf kf;fs;njhif fzf;nfLg;G 

elj;jg;gl;lJ. 
iv. 1881 Mk; Mz;L Kjy; njhlh;e;J 10 Mz;LfSf;F xUKiw 

kf;fs;njhif fzf;nfLg;G elj;jg;gLfpwJ. 
a. i, ii, iii, iv  b. i, ii, iv  c. ii, iii, iv  d. i, iii, iv 
 

95. Consider the following 
Assertion (A): Ozone layer in the stratosphere is considered as a  

protective shield 
Reason (R): It prevents the UV Radiation from reaching the earth‟s   
 surface 
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true and R is not the correct explanation of A 
c. A is true but R is false 
d. A is false but R is true 

 $w;W (A): gLf;if mLf;fpYs;s XNrhd; glyj;ij ghJfhg;G Nflak;   
  vd;fpNwhk;. 
 fhuzk; (R): Gw Cjhf;fjph;tPr;R Gtpia milahky; jLf;fpwJ. 

a. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fk;. 
b. A kw;Wk; R ,uz;Lk; rhp NkYk; R MdJ A tpw;F rhpahd tpsf;fky;y.  
c. A rhp Mdhy; R jtW 
d. A jtW Mdhy; R rhp 
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96. Whose ideas are collected into a text called „Akila Thirattu‟? 
a. Narayana Guru   b. Ramalinga Swamigal  
c. Vaikunda Swamigal   d. Iyothee Thassar   
ahUila fUj;Jf;fs; 'mfpyj;jpul;L' vDk; xU E}yhfj; jpul;lg;gl;Ls;sJ?  
a. ehuhaz FU    b. ,uhkypq;f Rthkpfs;  
c. itFz;l Rthkpfs;   d. mNahj;jp jhrh;  
 

97. Who initiated a new knowledge practice by using journalism as a tool to 
make inroads into the print public sphere which was hitherto an upper cast 
domain? 
a. Periyar    b. Thiru Vi Ka 
c. Ambedkar  d. Iyothee Thassar 
cah; rhjpapdhpd; uh[;[pakhf tpsq;fpa mr;rpl;L ntspapLk; ,jopaiyj; 
jdJ fUtpahff; nfhz;L xU Gjpa mwpitg;gug;Gk; Kiwia 
Kd;ndLj;jth; ahh;?  
a. nghpahh;   b. jpU.tp.f 
c. mk;Ngj;fh;  d. mNahj;jp jhrh;  
 

98. Who was the founder of „Advaidananda Sabha? 
a. Narayana Guru  b. Ayothee Thassar  
c. Ayyankali   d. Vaikunda Swamigal   
'mj;itjhde;jh rgh' vDk; mikg;ig epWtpath; ahh;?  
a. ehuhaz FU   b. mNahj;jp jhrh; 
c. ma;ad; fhsp   d. itFz;l Rthkpfs;  
 

99. Match the following: 
A. Dravida Kazhagam   1. 1885 
B. Dravida Mahjana Sabha  2. 1891 
C. Dravida Pandian    3. 1907 
D. Oru Paisa Tamilan   4. 1882 
 A B C D 
a. 4 2 1 3 
b. 1 2 4 3 
c. 2 4 3 1 
d. 2 4 1 3 
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nghUj;Jf:  
A. jpuhtpl fofk;    1. 1885 
B. jpuhtpl kfh[drig   2. 1891  
C. jpuhtpl ghz;bad;   3. 1907 
D. xU igrh jkpod;   4. 1882  
 A B C D 
a. 4 2 1 3 
b. 1 2 4 3 
c. 2 4 3 1 
d. 2 4 1 3 

 
100. By whom Iyothee Thassar was influenced and went to Sri Lanka in 1898 and 

converted to Buddhism? 
a. Annie Besant     b. Colonel H.S. Olcott 
c. Madame H.P. Blavatsky   d. Vivekananda  
1898 ,y; ahh; Vw;gLj;jpaj; jhf;fj;jpd; tpisthf mNahj;jp jhrh; ,yq;if 
nrd;W mq;Nf ngsj;jj;ijj; jOtpdhh;?  
a. md;dp ngrd;l;   b. fh;dy; H.S. My;fhl;  
c. Nklk; H.P. gpshtl;];fp  d. tpNtfhde;jh;  

 
101. Consider the following statements: 

i. Physiological or Nutritional density is the ratio between total 
population and total cropped area. 

ii. Nutritional density of the world is 310 per sq.km of land. 
iii. Singapore has the highest nutritional density of population. 

 a. i, ii, iii are correct    b. only ii is correct 
 c. i, iii are correct    d. only iii is incorrect 
 gpd;tUk; $w;Wfis Ma;f. 

i. Cl;lr;rj;J mlh;j;jp vd;gJ nkhj;j kf;fs; njhiff;Fk; nkhj;j 
gaphplg;gl;l gug;gsTf;Fk; ,ilNaahd tpfpjhr;rhukhFk;. 

ii. cyfpd; Cl;lr;rj;J mlh;j;jp tPjk; xU rJu fp.kP-f;F 310 Ngh;. 
iii. rpq;fg;g+h; cyfpd; kpf mjpf Cl;lr;rj;J mlh;j;jp nfhz;Ls;sJ.  

 a. i, ii, iii rhp   b. ii kl;Lk; rhp 
 c. i, iii rhp    d. iii kl;Lk; jtW 
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102. Choose the correct statements: 
i. The current world population is 7.6 billion. 
ii. In 2024 the population of India is expected to surpass that of china. 
iii. Cisgender is a term for people whose gender identity matches the sex 

that they were assigned at birth. 
iv. Population pyramids are geographical representations of the age and 

density of population. 
 a. i, iii, iv are correct   b. i, ii, iii are correct 
 c. i, ii are incorrect   d. i, iv are correct 
 rhpahd $w;Wfisj; Njh;e;njL. 

i. jw;Nghija cyf kf;fs;njhif 7.6 gpy;ypad;  
ii. 2024-y; kf;fs;njhifapy; ,e;jpah rPdhit kpQ;rptpLk; vd 

vjph;ghh;f;fg;gLfpwJ. 
iii. rp];n[z;lh; gpwf;Fk;NghJ xUtUf;Ff; nfhLf;fg;gl;l ghypd 

milahsk;. 
iv. kf;fs;njhif gpukpL vd;gJ taJ kw;Wk; kf;fs;njhif mlh;j;jpia 

fhl;Lk; tiuglkhFk;. 
 a. i, iii, iv rhp  b. i, ii, iii rhp c. i, ii jtW  d. i, iv rhp 
 

103. Match the following: 
A. Negroid   1. Black race 
B. Mongoloid   2. Dark skin tone 
C. Caucasoid   3. White people 
D. Australoid   4. Yellow skin stone 
 A B C D 
a. 1 2 3 4 
b. 1 4 3 2 
c. 2 1 3 4 
d. 2 1 4 3 
nghUj;Jf. 
A. ePf;uha;L    1. fUg;G ,dj;jth; 
B. kq;Nfhyha;L   2. fUg;G epwj;Njhy; 
C. fhfrha;L   3. nts;isah;fs; 
D. M];l;uyha;L   4. kQ;rs; epwj;Njhy; 
 A B C D 
a. 1 2 3 4 
b. 1 4 3 2 
c. 2 1 3 4 
d. 2 1 4 3 
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104. Which of the following statements is correct? 
i. Hinduism is the oldest ethnic religion of the world. 
ii. Islam is the second largest religion of the world. 
iii. Irulas are the largest tribal group in Tamilnadu 

 a. i, ii, iii  b. i, iii   c. ii, iii  d. i, ii 
 gpd;tUk; $w;Wfspy; rhpahdit vit? 

i. cyfpd; kpf goikahd kjkhf ,e;J kjk; cs;sJ. 
ii. ,];yhk; cyfpd; ,uz;lhtJ kpfg;nghpa kjkhFk;. 
iii. ,Ush;fs; jkpofj;jpd; kpfg;nghpa goq;Fb kf;fshth;. 

 a. i, ii, iii  b. i, iii   c. ii, iii  d. i, ii 
 

105. Choose the correct statements: 
i. The pigmies are Negroid people and are also called Negrillos. 
ii. Masai tribes are best and most typical cattle herders not only of Africa 

but also of the world. 
iii. Bushman is the tribal group of Kalahari Desert in Southern Africa. 
iv. The Bedouins occupy the desert areas of Southern Africa. 

 a. i, ii, iii, iv  b. i, ii, iii  c. ii, iii, iv  d. i, ii, iv 
 rhpahd $w;Wfisj; Njh;e;njL. 

i. gpf;kpf;fs; ePf;uha;L kf;fs; vdTk;> ePf;Nuhy;yp]; vd;Wk; 
miof;fg;gLfpd;wdh;. 

ii. krha; ,d kf;fs; Mg;hpf;fhtpy; kl;Lky;yhky; cyfk; KOtjpYk; kpfr; 
rpwe;j kw;Wk; jdpj;Jtk; tha;e;j fhy;eil Nka;g;gth;fshf cs;sdh;. 

iii. G~;nkd; ,d kf;fs; njd; Mg;hpf;fhtpYs;s fyfhhp ghiytdj;jpd; 
goq;Fbapdh; Mth;. 

iv. gpNlha;d;fs; njd; Mg;gphpf;f ghiytdj;jpy; fhzg;gLfpwhh;fs;. 
 a. i, ii, iii, iv  b. i, ii, iii  c. ii, iii, iv  d. i, ii, iv 
 

106. Who was the first person in the legal history of India to realize the necessity 
of establishing an All-India Court of Final Appeal in place of the Privy 
Council? 
a. Harilal J.Kania   b. Hari Singh Gour 
c. Patanjali Sastri   d. Mehar Chand 
,Wjpfl;l Nky;KiwaPl;Lf;fhf ,e;jpahtpNyNa Nky; KiwaPL nra;Ak; xU 
midj;jpe;jpa jiyik ePjpkd;wj;jpd; Njitia Kjypy; czh;e;jth; ahh;? 
a. `hpyhy; N[.fdpah   b. `hprpq; Nfhh; 
c. gjQ;ryp rh];jphp   d. Nk`hh; re;j; 
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107. Which of the following statements is correct? 
I. Supreme Court of India under the present constitution commenced 

Functioning on January 26, 1950. 
II. Justice K.G. Balakrishnan was the First Judge from the depressed 

class. 
III. Article 124, provided for the establishment of the Supreme Court of 

India. 
 a. I, II, III  b. I, II   c. II, III  d. I, III 

gpd;tUtdtw;Ws; rhpahd $w;Wfs; vit? 
I. jw;NghJs;s murikg;gpd;fPo; ,e;jpa cr;rePjpkd;wk; [dthp 26> 1950 

Mk; Mz;L Kjy; nray;glj; njhlq;fpaJ. 
II. ePjpgjp Nf.[p.ghyfpU~;zd; gl;baypdj;jth; rKjhaj;jpypUe;J 

Kjd;Kiwahf cr;r ePjpkd;w ePjpgjpahf epakdk; nra;ag;gl;lhh;. 
III. murikg;G cWg;G 124 ,e;jpa cr;rePjpkd;wj;ij epWt top nra;jJ. 

 a. I, II, III  b. I, II   c. II, III  d. I, III 
 

108. Which of the following Articles empowers the High Courts to issue writs? 
a. Article 32 b. Article 226 c. Article 227 d. Article 228 
gpd;tUk; cWg;Gfspy; vJ cah;ePjpkd;wj;jpw;F Nguhizfisg; gpwg;gpf;f 
mjpfhuk; mspf;fpwJ? 
a. cWg;G 32 b. cWg;G 226 c. cWg;G 227 d. cWg;G 228 
 

109. Which of the following statements is correct? 
I. The first modern budget was presented in 1862. 
II. In 1866, the financial year was changed to 1st April to 31st March. 

 a. I, II  b. II   c. I   d. None 
gpd;tUk; $w;Wfspy; rhpahdit vit? 
I. 1862 ,y; Kjy; etPd epjpepiy mwpf;if jhf;fy; nra;ag;gl;lJ. 
II. 1866 ,y; epjp Mz;L vd;gJ Vg;uy; 1 Kjy; khh;r; 31 tiu vd khw;wpf; 

nfhs;sg;gl;lJ.  
 a. I, II  b. II   c. I   d. VJkpy;iy 
 

110. Choose the correct statements: 
I. The office of cabinet secretary was created in India in 1950. 
II. The First cabinet secretary was N.R.Pillai. 
III. The cabinet secretary is the head of the cabinet secretariat. 

 a. I, II, III  b. I, II  c. II, III  d. I, III 
 
 



 

40 | Page PH: 24339436, 42867555, 9840226187 

 

rhpahd $w;Wfisj; Njh;e;njL. 
I. ,e;jpahtpy; mikr;ruitr; nrayh; mYtyfk; gjtpahdJ 1950 Mk; 

Mz;L cUthf;fg;gl;lJ. 
II. ,e;jpahtpd; Kjy; mikr;ruit nrayhsh; vd;.Mh;.gps;is Mthh;. 
III. mikr;ruit nrayNu mikr;ruit nrayfj;jpd; jiytuhthh;. 

 a. I, II, III  b. I, II  c. II, III  d. I, III 
 

111. Choose the correct statement regarding Annie Besant  
1. She joined the Theosophical society in 1893 
2. With the death of H.S Olcott in 1907, Besant succeeded him as 

international president of Theosophical society    
a. 1 only  b. 2 only  c. Both 1 and 2   d. None  
md;dpnrz;l; gw;wpa rhpahd $w;iwj; Njh;e;njLf;fTk;  
1. 1893 y; jpNahr/gpfy; nrhirl;bapy; ,ize;jhh; 
2. 1907-y; H.S. My;fhl; ,we;j gpwF> ngrz;l jpNahr/gpfy; nrhirl;bapd; 

rh;tNjr jiytuhdhh;. 
a. 1 kl;Lk;   b. 2 kl;Lk;   
c. 1 kw;Wk; 2 kl;Lk; d. vJTkpy;iy  

 
112. Who published the book “How India wrought for freedom” in 1915? 

a. Dadabhai Naoroji  b. Annie Besant  
c. George Arundale   d. B.P Wadia  
1915y; "How India Wrought for freedom" vDk; Gj;jfj;ij ntspapl;lth; 
ahh;?  
a. jhjhgha; nesNuh[p b. md;dp ngrz;l;  
c. [hh;[; mUz;Nly;  d. B.P. thbah  
 

113. Find out the educated followers of Annie Besant  
1. Jamnadas Dwarkadas   2. George Arundalae  
3. Shankerlal Banker    4. B.P Wadia  
a. All the above   b. 1, 2, 3 only c. 2, 3, 4 only d. 1, 3, 4 only   
md;dpngrz;ilg; gpd;gw;wpa fy;tpawpTilNahiuf; fz;lwpf.  
1. [Kdhjh]; Jh;fhjh];  2. [hh;[; mUz;Nly;  
3. rq;fh;yhy; gq;fh;   4. B.P. thbah  
a. midj;Jk;   b. 1, 2, 3 kl;Lk;  
c. 2, 3, 4 kl;Lk;   d. 1, 3, 4 kl;Lk;  
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114. Who among the following gave the call “The moment of England‟s difficulty 
is the moment of India‟s opportunity” 
a. Subhas Chandra Bose  b. B.G Tilak  
c. Annie Besant    d. Bhagat Singh  
gpd;tUgth;fSs; ",q;fpyhe;jpd; fbdkhd jUzkhdJ ,e;jpahtpw;fhd 
tsh;g;ghFk;" vd;W $wpath; ahh;?  
a. Rgh~; re;jpu Ngh];  b. B.G. jpyfh;  
c. md;dpngrz;l;  d. gfj;rpq;  
 

115. When did Besant made a formal declaration that she would start the home 
rule league movement for India  
a. 29 July 1915   b. 28 September 1915   
c. 14 September 1915     d. 14  July 1916  
md;dpngrz;l; vg;NghJ> ,e;jpahtpw;fhd Rahl;rp fofj;ijj; Jtq;ff;$ba 
mwptpg;ig Kiwahf ntspapl;lhh;?  
a. [Piy 29> 1915  b. nrg;lk;gh; 28> 1915 
c. nrg;lk;gh; 14> 1915  d. [Piy 14> 1916 

 

116. A rational number is such that when we multiply it by 5

2
 and 2

3
 add to the 

product we get 7

12
 .  What is the number? 

a. 1

2
    b. 1   c. -2  d. 1

2
 

xU tpfpjKW vz;iz 5

2
My; ngUf;fp tUk; ngUf;fw; gyDld; 2

3
If; 

$l;bdhy; 7

12
  fpilf;Fk; vdpy; mt;tpfpjKW vz; vJ? 

a. 1

2
    b. 1   c. -2  d. 1

2
 

 
117. An alloy consists of 30% copper and 40% zinc, and the remaining is nickel.  

Find the amount of nickel in 20 kilograms of the alloy. 
a. 6 kgs   b. 8 kgs  c. 10 kgs  d. 12 kgs 
xU cNyhff; fyitapy; 30% jhkpuk;> 40% Jj;jehfk;> kPjp epf;fy; cs;sJ.  
20 fp.fp cs;s ,e;j cNyhff; fyitapy; epf;fypd; msT ahJ? 
a. 6 fp.fp.   b. 8 fp.fp  c. 10 fp.fp  d. 12 fp.fp 
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118. A worker receives ` 11,250 as bonus, which is 15% of his annual salary.  
What is his monthly salary? 
a. ` 6,350   b. ` 6,200   c. ` 6,250   d. ` 6,150 
xU njhopyhsp ` 11>250 Cf;fj; njhifahfg; ngWfpd;whh;.  ,j;njhif mth; 
jk; Mz;L tUkhdj;jpy; 15% vdpy;> mthpd; khj tUkhdk; vd;d? 
a. ` 6,350   b. ` 6,200   c. ` 6,250   d. ` 6,150 

 
119. A television set was sold for Rs. 5,760 after giving successive discounts of 

10% and 20% respectively. What was the Marked Price? 
a. `8,000  b.` 8500   c. ` 7000   d. ` 7200 
xU njhiyf;fhl;rpg; ngl;b 10%, 20% Mfpa njhlh; js;Sgbfs; nfhLj;j 
gpd; ` 5>760f;F tpw;fg;gLfpd;wJ vdpy; ,jd; Fwpj;j tpiy vd;d? 
a. `8,000  b.` 8500   c. ` 7000   d. ` 7200 

 
120. At what rate per annum will ` 640 amount to ` 774.40 in 2 years, interest 

being compounded annually? 
a. 10%  b. 12%   c. 8%   d. 14% 
` 640 MdJ ,uz;L Mz;Lfspy; $l;Lj;njhif ` 774.40 MFk;.  $l;L tl;b 
tPjk; fhz;f.  (tl;b Mz;bw;F xU Kiw mrYld; NrUfpd;wJ) 
a. 10%  b. 12%   c. 8%   d. 14% 

 
121. Choose the correctly matched pair: 

1. Lala Hardayal  - Founder of Ghadar party  
2. Sohan singh Bhakna - President of Ghadar Party  
a. 1 only  b. 2 only  c. Both 1 and 2   d. None  
rhpahfg; nghUj;jg;gl;l ,iziaj; Njh;e;njLf;fTk;.  
1. yhyh `h;jahs;  - fhjh; fl;rpia Jtf;fpath;  
2. Nrhfd;rpq; ghf;dh - fhjh; fl;rpapd; jiyth;  
a. 1 kl;Lk;    b. 2 kl;Lk;   
c. 1 kw;Wk; 2 kl;Lk;  d. vJTkpy;iy  
 

122. Who was the president of INC in 1916 session at Lucknow? 
a. Dadabhai Naoroji   b. Annie Besant  
c. Motilal Nehru   d. Ambika Charan Mazumdar    
1916-y; eilngw;w yf;Ndh khehl;bd; jiyth; ahh;?  
a. jhjhgha; nesNuh[p  b. md;dp ngrz;l;  
c. Nkhjpyhy; NeU    d. mk;gpfh ruz; k[Pk;jhh;  
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123. Which of the following statements is/are correct? 
i. Inland Waterways Authority was set up in 1985 
ii. India has four major shipyards 
iii. India is the second largest ship owning country in Asia 
a. i, ii, iii  b. i, iii  c. ii, iii  d. i, ii 
gpd;tUk; $w;Wfspy; rhpahdit vit? 
i. cs;ehl;L ePh;topg; Nghf;Ftuj;J Mizak; 1985 ,y; njhlq;fg;gl;lJ. 
ii. ,e;jpahtpy; ehd;F Kf;fpa fg;gy; fl;Lk; jsq;fs; cs;sd. 
iii. ,e;jpah fg;gy; fl;Lk; njhopypy; Mrpahtpy; ,uz;lhtJ ,lj;ijg; 

ngw;Ws;sJ. 
a. i, ii, iii  b. i, iii  c. ii, iii  d. i, ii 
 

124. Match the following 
A. NW-1  1. Dhubri and Sadiya 
B. NW-2  2. Kollam and Kottapuram 
C. NW-3  3. Haldia and Allahabad 
 A B C 
a. 1 3 2 
b. 3 1 2 
c. 2 3 1 
d. 1 2 3 
nghUj;Jf. 
A. Njrpa ePh;topg; Nghf;Ftuj;J vz; 1 1. Jgphp kw;Wk; fhbah 
B. Njrpa ePh;topg; Nghf;Ftuj;J vz; 2  2. nfhy;yk; kw;Wk; 
          Nfhl;lGuk; 
C.Njrpa ePh;topg; Nghf;Ftuj;J vz; 3  3. `hy;jpah kw;Wk; myfhghj; 
 
 A B C 
a. 1 3 2 
b. 3 1 2 
c. 2 3 1 
d. 1 2 3 
 

125. Choose the correct statements 
i. The first sub-urban railway was started in 1925 in Mumbai 
ii. Indian Railways were nationalised in 1951 
iii. Chennai becomes the sixth Indian city with metro rail 
iv. Construction of Konkan Railway was started in 1998 
a. i, ii, iii, iv  b. ii, iii, iv  c. i, ii, iv d. i, iii, iv 
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rhpahd $w;iwj; Njh;e;njL. 
i. ,e;jpahtpy; Kjy; Gwefh; ,uapy; Nghf;Ftuj;J Kk;igapy; 1925-y; 

njhlq;fg;gl;lJ. 
ii. 1951-y; ,e;jpa ,uapy;Nt Njrpakakhf;fgl;lJ. 
iii. nrd;id nkl;Nuh uapy; Nrit nfhz;l MwhtJ efukhFk;. 
iv. nfhq;fd; ,uapy;Nt 1998 Mk; Mz;L mikf;fg;gl;lJ.  
a. i, ii, iii, iv  b. ii, iii, iv  c. i, ii, iv d. i, iii, iv 
 

126. Match the following 
A. USA  1. NAVIC 
B. China  2. Beidou 
C. Europe  3. GLONASS 
D. Russia  4. Galileo 
E. India  5. NAVSTAR GPS 
 A B C D E 
a. 2 1 3 4 5 
b. 1 2 4 3 5 
c. 3 2 4 1 5 
d. 5 2 4 3 1 
nghUj;Jf. 
A. mnkhpf;fh  1. NAVIC 
B. rPdh   2. gpNlht; 
C. INuhg;gh  3. GLONASS 
D. u~;ah   4. fypypNah 
E. ,e;jpah   5. NAVSTAR GPS 
 
 A B C D E 
a. 2 1 3 4 5 
b. 1 2 4 3 5 
c. 3 2 4 1 5 
d. 5 2 4 3 1 
 

127. Match the following 
Airport      Location 
A. Netaji Subhash Chandra Bose 1. Ahamadabad 
B. Rajiv Gandhi     2. Kolkata 
C. Indira Gandhi    3. Hyderabad 
D. Sardar Vallabhai Patel   4. Delhi 
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 A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 2 3 1 4 
d. 3 2 1 4 
nghUj;Jf. 
tpkhd epiyak;    ,lk; 
A. Nejh[p Rgh~; re;jpu Ngh]; 1. mfkjhghj; 
B. uh[pt; fhe;jp    2. fy;fj;jh 
C. ,e;jpuh fhe;jp    3. Ijuhghj; 
D. rh;jhh; ty;ygha; gNly;  4. nly;yp 
  A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 2 3 1 4 
d. 3 2 1 4 
 

128. Assertion (A): Iyothee Thassar urged untouchables to register as casteless 
Dravidians in the census. 
Reason (R): He called „untouchables‟ as Sathi Petham Atra Dravidan   
a. A and R are correct and R is the correct explanation of A  
b. A alone is correct R is incorrect  
c. A and R are incorrect  
d. A and R are correct but R is not the correct explanation of A 
$w;W (A) : mNahj;jp jhrh;> kf;fs; njhiff; fzf;nfLg;gpd;NghJ 
xLf;fg;gl;lth;fis rhjpaw;w jpuhtplh;fs; vdg; gjpT nra;AkhW 
tw;GWj;jpdhh;.  
fhuzk; (R): xLf;fg;gl;lth;fis rhjp Ngjkw;w jpuhtplh; vd mioj;jhh;. 
a. (A) kw;Wk; (R) ,uz;Lk; rhp (R)> (R) cila rhpahd tpsf;fkhFk;  
b. (A) kl;Lk; rhp> (R) jtW  
c. (A) kw;Wk; (R) ,uz;Lk; jtW  
d. (A) kw;Wk; (R) ,uz;Lk; rhp (R), (A) cila rhphd tpsf;fky;y  

 
129. Which of the following statements about Eskimos is correct? 

i. Eskimos are Australoid race 
ii. They live in igloo 
iii. The hunting practices of Eskimos are known as maupak. 

 a. i, ii, iii  b. i, ii   c. ii, iii  d. i, iii 
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 v];fpNkhf;fs; gw;wpa gpd;tUk; $w;Wfspy; rhpahdit vit? 
i. v];fpNkhf;fs; M];l;uyha;L ,dj;ijr; rhh;e;jth;fs;. 
ii. ,th;fs; ,f;Y} FbapUg;gpy; trpf;fpwhh;fs;. 
iii. ,th;fs; khgf; vDk; Ntl;ilahLjy; Kiwia gpd;gw;Wfpwhh;fs; 

 a. i, ii, iii  b. i, ii   c. ii, iii  d. i, iii 
 

130. The most dangerous tribal group in the world is ________ 
a. Eskimos  b. Santhals  c. Sentinelese d. Bushman 
cyfpd; kpf Mgj;jhd goq;Fbapdh; ,dk; vJ? 
a. v];fpNkhf;fs; b.rhe;jyh;fs; c. nrd;bdy;]; d. G~;nkd; 
 

131. Which of the following statements are correct? 
i. Bhils are popularly known as the blowmen of Maharashtra. 
ii. Santhals belong to the Pre – Aryan period and have been the great 

Fighters from the time of the British. 
iii. Angami tribal group belongs to the state of Nagaland. 
iv. Sekrenyi is the main festival celebrated by the khasi tribe. 

 a. i, ii, iii, iv  b. i, iii  c. ii, iv  d. ii, iii 
 gpd;tUk; $w;Wfspy; rhpahdit vit? 

i. gpy;]; kfhuh~;buhtpd; gpugykhd tpy; kdpjh;fs; vd 
mwpag;gLfpwhh;fs;. 

ii. Ke;ija Mh;a fhyj;ij rhh;e;jtuhd ,th;fs; gphpl;b~; fhyj;jpypUe;Nj 
ngUk; Nghuhspfshf ,Ue;jpUf;fpd;wdh;. 

iii. mq;fhkp goq;Fbapdh; ehfhyhe;J khepyj;ij rhh;e;jth;fs;. 
iv. rPf;Nudp fhrp goq;Fbapdh; nfhz;lhLk; Kf;fpa jpUtpoh MFk;. 

 a. i, ii, iii, iv  b. i, iii  c. ii, iv  d. ii, iii 
 

132. Which is the largest tribal group in Tamilnadu? 
a. Todas  b. Badagas c. Irulas  d. Kurumbas 
jkpo;ehl;bd; kpfg;nghpa goq;Fbapdh; ,dk; vJ? 
a. Njhlh;fs; b. gLfh;fs;  c. ,Ush;fs; d. FUk;gh;fs; 
 

133. Choose the correct statements: 
I. In a democracy public opinion is harnessed through political parties. 
II. Political parties are the drivers of a democracy. 
III. Psephology deals with the study and statistical analysis of elections 

and polls. 
 a. I, II, III  b. I, III  c. II, III  d. I, II 
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rhpahd $w;Wfisj; Njh;e;njL. 
I. kf;fshl;rpapy; murpay; fl;rpfspd; %ykhfNt nghJf; fUj;Jfs; 

topelj;jg;gLfpd;wd. 
II. murpay; fl;rpfNs kf;fshl;rpapd; ce;J rf;jpfshFk;. 
III. Njh;jy; gw;wpa Ma;T kw;Wk; Gs;sp tptu gFg;gha;Nt Njh;jypay; MFk;. 

 a. I, II, III  b. I, III  c. II, III  d. I, II 
 

134. Choose the correct statements about First Loksabha Election in India. 
I. Elections took around four months from October 25, 1951 to February 

21, 1952. 
II. The congress had won 364 out of 489 Loksabha Seats. 
III. 53 parties had contested this election. 
IV. The CPI was the second party with just 16 seats. 

 a. I, II, III, IV  b. I, II, IV  c. II, III, IV  d. I, II, III 
,e;jpahtpd; KjyhtJ kf;fsit Njh;jy; gw;wpa rhpahd $w;Wfisj; 
Njh;e;njL. 
I. mf;Nlhgh; 25> 1951 Kjy; gpg;uthp 21> 1952 tiu ,j;Njh;jy;fs; ele;jd. 
II. nkhj;jKs;s 489 kf;fsit ,lq;fspy; fhq;fpu]; fl;rp 364 ,lq;fspy; 

ntd;wJ. 
III. 53 fl;rpfs; Njh;jypy; Nghl;bapl;ld. 
IV. ,e;jpa fk;a+dp];l; fl;rp 16 ,lq;fspy; ntw;wp ngw;W ,uz;lhkplk; 

ngw;wJ. 
 a. I, II, III, IV  b. I, II, IV  c. II, III, IV  d. I, II, III 

 
135. Match the following: 

A. Tarkunde committee  1. 1974 
B. Indrajit Gupta committee  2. 1998 
C. Vora committee   3. 1993 
D. Tanka committee   4. 2010 
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 2 1 4 3 
d. 2 1 3 4 
nghUj;Jf. 
A. jhh;Fe;j; FO    1. 1974 
B. ,e;jpu[pj; Fg;jh FO  2. 1998 
C. Nthuh FO    3. 1993 
D. lq;fh FO    4. 2010 
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 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 2 1 4 3 
d. 2 1 3 4 
 

136. Which of the following constitutional amendment Act made change in the 
disqualification on ground of defection not to apply in case of split? 
a. 97th Amendment Act   b. 91st Amendment Act 
c. 93rd Amendment Act   d. 95th Amendment Act  
fl;rp gpsTUk; #oypy; fl;rpj; jhtypd; mbg;gilapy; jFjpapog;G nra;tJ 
nghUe;jhJ vd ve;j rl;lj;jpUj;jj;jpy; Fwpg;gplg;gl;lJ? 
a. 97th tJ rl;lj;jpUj;jk;   b. 91st tJ rl;lj;jpUj;jk; 
c. 93rd tJ rl;lj;jpUj;jk;   d. 95th tJ rl;lj;jpUj;jk;  
 

137. The First delimitation commission act was passed in  
a. 1952  b. 1963  c. 1973  d. 2002 
KjyhtJ tiuaiw Mizar; rl;lk; epiwNtw;wg;gl;l Mz;L ______  
a. 1952  b. 1963  c. 1973  d. 2002 

 
138. The European planters who had bound the peasants to compulsorily grow 

indigo on lease on _________ of their fields  

a.      ⁄   b.      ⁄    c.      ⁄   d.       ⁄  

[Nuhg;gpa Njhl;lfhuu;fs;> tptrhapfis Fiwe;jfgl;rk; jq;fs; tay;fspy; 
_______ mstpw;F ,z;bNfhit tsh;f;f fl;lhag;gLj;jg;gl;ldh;.  

1.
20

a gq;F  1.
10

b gq;F  3.
10

c gq;F  3.
20

d gq;F  

 
139. The Gandhi advised the mill workers to go on strike demanding how much 

percent increase in their wages during Ahamadabad mill strike? 
a. 50%  b. 25%  c. 15%  d. 35%  
mfkjhghj; Miy Nghuhl;lj;jpy; Miy njhopyhsh;fs; jq;fs; Cjpaj;jpy; 
vt;tsT rjtPjk; mjpfhpg;G Nfhhp Ntiy epWj;jj;jpy; <Lgl Ntz;Lk; vd;W 
fhe;jp mwpTWj;jpdhh; 
a. 50%  b. 25%  c. 15%  d. 35%  
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140. Choose the correct statements regarding Udham Singh 

1. He was raised at Khalsa Orphanage  
2. In 30 March 1940 he assassinated Michael O Dwyer in Caxton Hall of 

London   
a. 1 only   b. 2 only   c. both 1 and 2   d. None     
cj;jk; rpq; Fwpj;j $w;Wfspy; rhpahdJ vJ?  
1. ,th; fhy;rh mdhij ,y;yj;jpy; tsh;f;fg;gl;lhh;.  
2. 1940> khh;r; 20-y; ikf;Nfy;-X-ilaiu yz;ldpy; cs;s fhf;];ld; `hypy; 

gLnfhiy nra;jhh;.  
a. 1 kl;Lk;  b. 2 kl;Lk;  
c. 1 kw;Wk; 2 kl;Lk; d. vJTkpy;iy  

 
141. Who among the following threw bomb into the central assembly hall  

1. Bhagat Singh   2. Sukhdev   3. Batukeswar Dutt   
a. All the above   b. 1 and 3 only   c. 1 and 2 only d. 2 and 3 only  
gpd;tUgth;fspy; kj;jpa rl;lkd;wj;jpy; Fz;L tPrpaJ ahh;?  
1. gfj;rpq;    2. Rf;Njt;   3. gLNf~;th; jj;  
a. Nkw;fz;l midj;Jk;   b. 1 kw;Wk; 3 kl;Lk;  
c. 1 kw;Wk; 2 kl;Lk;     d. 2 kw;Wk; 3 kl;Lk;  
 

142. Arrange the following in chronological order   
1. Gandhi – Irwin Pact 2. I- Round Table Conference  
3. Dandi March  
a. 1-2-3  b. 3-1-2  c. 3-2-1  d. 2-3-1  
gpd;tUtdtw;iw fhythpirg;gLj;Jf: 
1. fhe;jp - ,h;tpd; xg;ge;jk;  
2. Kjy; tl;lNkir khehL  
3. jz;b ahj;jpiu  
a. 1-2-3  b. 3-1-2  c. 3-2-1  d. 2-3-1  

 
143. The Gandhi-Irwin pact was signed on which of the following dates? 

a. March 5 1931    b. April 10 1931 
c. May 5 1930  d. June 10 1930  
fhe;jp ,h;tpd; xg;ge;jk; gpd;tUk; ve;j ehspy; ifnaOj;jplg;gl;lJ?  
a. 5 khh;r;> 1931  b. 10 Vg;uy; 1931 
c. 5 Nk> 1930  d. 10 [Pd;> 1930  
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144. Consider the following statements, choose the correct answer form the codes 
given below 
Assertion (A): B.R Ambedkar launched Mahad Satyagraha        
Reason (R):To establish the civic rights of the untouchables to public tanks 
and wells  
a. A and R is correct R is incorrect  
b. A and R are correct and R is the correct explanation of A  
c. A and R are Incorrect  
d. A and R are correct but R is not the correct explanation of A  
gpd;tUk; $w;Wfis ftdpj;J> rhpahd FwpaPl;il Njh;e;njLf;fTk;.  
$w;W (A) : Dr. gp.Mh;. mk;Ngj;fh;> kfj; rj;ahfpufj;ij njhlq;fpdhh; 
fhuzk; (R): jPz;ljfhjth;fSf;F nghJ Fsk; kw;Wk; fpzWfspy;  
    mth;fspd; FbAhpikia epiyehl;Ljy;  
a. (A) kl;Lk; rhp (R) jtW  
b. (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (A) Tf;F rhpahd tpsf;fk; (R) MFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW  
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (A) Tf;F rhpahd tpsf;fk; (R) 

my;y  
 

145. Consider the following statements, choose the correct answer form the codes 
given below 
Assertion (A): Gandhi went on a fast unto death in the Yervada jail         
Reason (R): The communal award announced in August 1932   
a. A is correct and R is incorrect  
b. A and R are correct and R is the correct explanation of A  
c. A and R are Incorrect  
d. A and R are correct but R is not the correct explanation of A  
gpd;tUk; $w;Wfis ftdpj;J> rhpahd FwpaPl;ilj; Njh;T nra;f.  
$w;W (A) : fhe;jp> vuthlh rpiwapy; rhFk;tiu cz;zhtpujk; 
Nkw;nfhz;lhh;.  
fhuzk; (R) : 1932> Mf];l;by; tFg;Gthj nfhil mwptpf;fg;gl;lJ.  
a. (A) kl;Lk; rhp (R) jtW  
b. (A) kw;Wk; (R) ,uz;Lk; rhp kw;Wk; (A) Tf;F rhpahd tpsf;fk; (R) MFk;. 
c. (A) kw;Wk; (R) ,uz;Lk; jtW  
d. (A) kw;Wk; (R) ,uz;Lk; rhp Mdhy; (A) Tf;F rhpahd tpsf;fk; (R) 

my;y  
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146. A train covers a distance of 195 km in 3 hrs.  At the same speed, the distance 
travelled in 5 hours is _______. 
a. 195 km  b. 325 km  c. 390 km  d. 975 km 
xU ,uapy; tz;b 195 fpNyhkPl;lh; J}uj;ij 3 kzp Neuj;jpy; flf;fpd;wJ. 
mNj Ntfj;jpy;> me;j ,uapy; tz;b 5 kzp Neuj;jpy; flf;Fk; J}uk;  
a. 195 fp.kP  b. 325 fp.kP  c. 390 fp.kP  d. 975 fp.kP  

 
147. 150 men can finish a piece of work in 12 days. How many days will 120 men 

take to finish the same work? 
a. 12 days   b. 16 days   c. 14 days  d. 15 days 
xU Ntiyia 150 Ml;fs; 12 ehl;fspy; Kbj;JtpLthh;fs;. 120 Ml;fs; 
mNj Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs;? 
a. 12 ehl;fs;  b. 16 ehl;fs; c. 14 ehl;fs; d. 15 ehl;fs; 

 
148. There are 250 students in a school. 55 students like basketball, 75 students 

like football, 63 students like throw ball, while the remaining like cricket, 
what percent of students like basketball? 
a. 32%  b. 42%  c. 12%  d. 22% 
250 khztu;fs; cs;s xU gs;spapy;> 55 khztu;fs; $ilg; ge;ijAk; 75 
khztu;fs; fhy;ge;ijAk;> 63 khztu;fs; vwpge;ijAk; kPjKs;stu;fs; 
fpupf;nfl;ilAk; tpUk;Gfpd;wdu; vdpy; $ilg;ge;ij tpUk;Gk; khztu;fspd; 
rjtPjk; vd;d? 
a. 32%  b. 42%  c. 12%  d. 22% 

 
149. A shop keeper purchased 100 ball pens for `250.  He sold each pen for `4.  

Find the profit percent. 
a. 40%  b. 50%   c. 60%  d. 58% 
xU filf;fhuh; 100 Ngdhf;fis `250f;F thq;Ffpwhh;. xU Ngdh `4f;F 
tpw;fpwhh;. ,yhg rjtPjj;ijf; fhz;f.  
a. 40%  b. 50%   c. 60%  d. 58% 

 

150. If a plant grows 3

5
cm in an hour, than its height after 1

2
2

days is ____. 

a. 6

10
cm   b. 30 cm  c. 35 cm  d. 36 cm 

xU jhtuk; 1 kzp Neuj;jpy; 3

5
nr.kP. cauk; tsh;fpwJ vdpy; 1

2
2
ehl;fSf;F 

gpwF mj;jhtuj;jpd; cauk; _______. 

a. 6

10
cm   b. 30 cm  c. 35 cm  d. 36 cm 
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CONTINUOUS MONTHLY ASSESSMENT TEST V – 2020 

GROUP I PRELIMINARY BATCH VI 
 

1 2 3 4 5 6 7 8 9 10 

A D C B A C B B B D 

11 12 13 14 15 16 17 18 19 20 

D B A C A C C C D C 

21 22 23 24 25 26 27 28 29 30 

B D C B B A D C A C 

31 32 33 34 35 36 37 38 39 40 

B A A A A B A D A C 

41 42 43 44 45 46 47 48 49 50 

B D A C A C C A D A 

51 52 53 54 55 56 57 58 59 60 

B B C A D B C B C A 

61 62 63 64 65 66 67 68 69 70 

A B C C A A C D C A 

71 72 73 74 75 76 77 78 79 80 
A B C A A B A A B C 

81 82 83 84 85 86 87 88 89 90 

C D B C D C B D A C 

91 92 93 94 95 96 97 98 99 100 

B A A D A C D B A B 

101 102 103 104 105 106 107 108 109 110 

C B B D B B C B B A 

111 112 113 114 115 116 117 118 119 120 
B B A C B A A C A A 

121 122 123 124 125 126 127 128 129 130 

C D C B A D B A C C 

131 132 133 134 135 136 137 138 139 140 

D B A B A B A D D C 

141 142 143 144 145 146 147 148 149 150 

B C A A A B D D C D 
 


